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1. What are the significances of a 

practical approach to sugarcane 

production known as ‘Sustainable 

Sugarcane Initiative’? 

1. Seed cost is very low in this 

compared to the conventional 

method of cultivation. 

2. Drip irrigation can be 

practiced very effectively in 

this. 

3. There is no application of 

chemical/inorganic fertilizers 

at all in this. 

4. The scope for intercropping 

is more in this compared to 

the conventional method of 

cultivation. 

Select the correct answer using the 

code given below. 

(a) 1 and 3 only 

(b) 1, 2 and 4 only 

(c) 2, 3 and 4 only 

(d) 1, 2, 3 and 4 

2. If a wetland of international 

importance is brought under the 

‘Montreux Record’, what does it 

imply ? 

(a) Changes in ecological 

character have occurred, are 

occurring or are likely to 

occur in the wetland as a 

result of human interference. 

(b) The country in which the 

wetland is located should 

enact a law to prohibit any 

human activity within five 

kilometers from the edge of 

the wetland. 

(c) The survival of the wetland 

depends on the cultural 

practices and traditions of 

certain communities living in 

its vicinity and therefore the 

cultural diversity therein 

should not be destroyed. 

(d) It is given the status of 

‘World Heritage Site’ 

3. Which one of the following pairs of 

islands is separated from` each other 

by the ‘Ten Degree Channel’ ? 

 (a) Andaman and Nicobar 

(b) Nicobar and Sumatra 

(c) Maldives and Lakshadweep 

(d) Sumatra and Java. 

4. Consider the Following pairs : 

Programme/Project  Ministry 

1. Drought-Prone       : Ministry of 

    Area Programme   Agriculture 

2. Desert Development    : Ministry of  

    Programme   Environment  

    and Forests 

3. National Watershed     : Ministry of  

    Development Project  Rural  

    for Rainfed Areas  Development  
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Which of the above pairs is/are correctly 

matched ? 

(a) 1 and 2 only 

(b) 3 only 

(c) 1, 2 and 3 

(d) None 

 

1. xék mRiknu ds ,d O;kogkfjd mikxe dk] 

ftls ^/kkj.kh; xék miØe.k^ ds :Ik esa tkuk 

tkrk gS] D;k egŸo gS \ 

1- d`f"k dh ikjEifjd i)fr dh rqyuk 

esa blesa cht dh ykxr cgqr de 

gksrh gSA 

2- blesa P;ou ¼fMªi½ flapkbZ dk 

izHkkodkjh Ikz;ksx gks ldrk gSA 

3- blesa jklk;fud@vdkcZfud moZjdksa 

dk fcYdqy Hkh bLrseky ugha gksrkA 

4- d`f"k dh ikjEifjd i)fr dh rqyuk 

esa blesa vUrjk’kL;u dh T;knk 

xqatkb’k gSA 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 

pqfu,A 

¼a½ dsoy 1 vkSj 3 

¼b½ dsoy 1] 2 vkSj 4 

¼c½ dsoy 2] 3 vkSj 4 

¼d½ 1] 2] 3 vkSj 4 

 

2- ;fn vUrjkZ"Vªh; egŸo dh fdlh vknZZzHkwfe dks 

^ekWfUVª;ks fjdkWMZ^ ds v/khu yk;k tk,] rks 

blls D;k vfHkizk; gS \ 

¼a½ D;k gLr{ksi ds ifj.kkeLo:Ik 

vknzZHkwfe esa ikfjfLFkfrd Lo:Ik esa 

ifjorZu gks x;k gS] gks jgk gS ;k 

gksuk lEHkkfor gS 

¼b½ ftl ns’k esa vknzZHkwfe vofLFkr gS] 

mls vknzZHkwfe ds dksj ls ik¡p 

fdyksehVj ds nk;js esa ekuo 

fØ;kdyki dks fuf"k) djus ds fy, 

fof/k vf/kfu;fer djuk pkfg, 

¼c½ vknZzHkwfe dk cpk jguk blds 

vkl&ikl jgus okys dfri; 

leqnk;ksa dh lkaLd`frd izFkkvksa rFkk 

ijEijkvksa ij fuHkZj gS vkSj blfy, 

mlds vUnj dh lkaLd`frd fofo/krk 

dks u"V ugha fd;k tkuk pkfg, 

¼d½ bls ^fo’o fojklr LFky^ dh fLFkfr 

iznku dh xbZ gS 

3- fuEufyf[kr }hiksa ds ;qXeksa esa ls dkSu&lk ,d 

^n’k va’k tyekxZ^ }kjk vkil esa i`Fkd~ fd;k 

tkrk gS\ 

 ¼a½ vUneku ,oa fudksckj 

 ¼b½ fudksckj ,oa lqek=k 

 ¼c½ ekynho ,oa y{k}hi 

 ¼d½ lqek=k ,oa tkok 

4- fuEufyf[kr ;qXeksa ij fopkj dhft, % 

 dk;ZØe@ifj;kstuk  ea=ky; 

 1- lw[kk&izo.k {ks=  %    d`f"k ea=ky;  

    {ks= dk;ZØe 

2- e#LFkyfoekl dk;ZØe  % Ik;kZoj.k ,oa ou  

  ea=ky; 

 3- o"kkZiwfjr {ks=ksa gsrq %   xzkeh.k fodkl 

   jk"Vªh; tylEHkj     ea=ky; 

   fodkl ifj;kstuk 

 mi;qZä ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr 

gS@gSa \ 

 ¼a½ dsoy 1 vkSj 2 

 ¼b½ dsoy 3 

 ¼c½ 1] 2 vkSj 3 

 ¼d½ dksbZ ugha 
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5. With reference to Bombay Natural 

History Society (BNHS), consider 

the following statements : 

1. It is an autonomous 

organization under the 

Ministry  of Environment and 

Forests. 

2. It strives to conserve nature 

through action-based 

research, education and 

public awareness. 

3. It organizes and conducts 

nature trails and campus for 

the general public. 

Which of the statements given above 

is/are correct ? 

6. With reference to ‘ Global 

Environment Facility’, which of the 

following statements is/are correct ? 

(a) It server as financial 

mechanism for ‘Convention 

on Biological Diversity’ and 

‘United Nations Framework 

Convention on Climate 

Change’ 

(b) It undertakens scientific 

research on environmental 

issues at global level 

(c) It is an agency under OECD 

to facilitate the transfer of 

technology and funds to 

underdeveloped countries 

with specific aim to protect 

their environment 

(d) Both (a) and (b) 

 

7. With reference to technologies for 

solar power production, consider the 

following statements : 

1. ‘Photovoltaics’ is a 

technology that generates 

electricity by direct 

conversion of light into 

electricity, while ‘Solar 

Thermal’ is a technology that 

utilizes the Sun’s rays to 

generate heat which is further 

used in electricity generation 

process. 

2. Photovoltaics generates 

Alternating Current (AC), 

while Solar Thermal 

generates Direct Current 

(DC). 

3. India has manufacturing base 

for Solar Thermal 

technology, but not for 

Photovoltaics. 

Which of the statements given above 

is/are correct ?  

(a) 1 only 

(b) 2 and 3 only 

(c) 1, 2 and 3 

(d) None 

8. Consider the following languages : 
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 1. Gujarati 

 2. Kannada 

3. Telugu 

Which of the above has/have been 

declared as ‘Classical Language/ 

Languages’ by the Government ? 

 

(a) 1 and 2 only 

(b) 3 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 

 

5- cEcbZ uspqjy fgLVjh lkslkbVh ¼BNHS½ ds 

lUnHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft, 

% 

1- ;g Ik;kZoj.k ,oa ou ea=ky; ds 

v/khu ,d Lok;Ÿk laxBu gSA 

2- ;g fØ;k&vk/kkfjr vuqla/kku] f’k{kk 

,oa yksd tkx:drk ds ek/;e ls 

izd`fr dks cpkus dk iz;kl djrk gSA 

3- ;g vke turk ds fy, izd`fr 

[kkst&;k=kvksa ,oa f’kfojksa dk 

vk;kstu ,oa lapkyu djrk gSA 

mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

¼a½ dsoy 1 vkSj 3 

¼b½ dsoy 2  

¼c½ dsoy 2 vkSj 3 

¼d½ 1] 2 vkSj 3 

6- ^Hkwe.Myh; Ik;kZoj.k lqfo/kk^ ds lUnHkZ esa 

fuEufyf[kr esa ls dkSu&lk@ls dFku lgh 

gS@gSa \ 

¼a½ ;g ^tSo&fofo/krk ij vfHkle;^ ,oa 

^tyok;q ifjorZu ij la;qä jk"Vª 

<k¡pk vfHkle;^ ds fy, foŸkh; 

fØ;kfof/k ds :Ik esa dke djrk gSA 

¼b½ ;g Hkwe.Myh; Lrj ij Ik;kZoj.k ds 

eqíksa ij oSKkfud vuqla/kku djrk gSA 

¼c½ ;g OECD ds v/khu ,d vfHkdj.k 

gS] tks vYifodflr ns’kksa dks muds 

Ik;kZoj.k dh lqj{kk ds fof’k"V mís’; 

ls izkS|ksfxdh vkSj fuf/k;ksa dk vUrj.k 

lqdj cukrk gSA 

¼d½ nksuksa ¼a½ vkSj ¼b½ 

 

 

7- lkSj 'kfä mRiknu ds fy, izkS|ksfxfd;ksa ds 

lUnHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft, 

% 

1- ^izdk’koksYVh; izfØ;k^ ,d izkS|ksfxdh 

gS] tks fd izdk’k d fo|qr~ esa izR;{k 

:ikUrj.k }kjk fo|qr~ tuu djrh gS] 

tcfd ^lkSj rkih; izfØ;k^ ,d 

izkS|ksfxdh gS] tks lw;Z dh fdj.kksa dk 

mi;ksx rki tfur djus ds fy, 

djrh gS] ftldk vkxs fo|qr~ tuu 

izfØ;k esa mi;ksx fd;k tkrk gSA 

2- izdk’koksYVh; izfØ;k izR;korhZ /kkjk 

¼AC½ dk tuu djrh gS] tcfd 

lkSj rkih; izfØ;k fn"V /kkjk ¼DC½ 

dk tuu djrh gSA 

3- Hkkjr ds ikl lkSj rkih; izkS|ksfxdh 

ds fy, fofuekZ.k vk/kkj gS] fdUrq 

izdk’koksYVh; izkS|ksfxdh ds fy, 

ughaA 

mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

¼a½ dsoy 1 

¼b½ dsoy 2 vkSj 3 

¼c½ 1] 2 vkSj 3 

¼d½ dksbZ ugha 

8- fuEufyf[kr Hkk"kkvksa ij fopkj dhft, % 

 1- xqtjkrh 
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 2- déM+ 

 3- rsyxw 

mi;qZä esa ls fdldks@fdudks ljdkj us 

^Js.; ¼Dykfldh½ Hkk"kk@Hkk"kk,¡^ ?kksf"kr fd;k 

gS \ 

¼a½ dsoy 1 vkSj 2 

¼b½ dsoy 3 

¼c½ dsoy 2 vkSj 3 

¼d½ 1] 2 vkSj 3 

 

9. Consider the following pairs : 

 1. Dampa Tiger    : Mizoram 

     Reserve 

 2. Gumti Wildlife : Sikkim 

     Sanctuary 

 3. Saramati Peak  : Nagaland 

Which of the above pairs is/are correctly 

matched ? 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

10. With reference to a conservation 

organization called ‘Wetlands 

International’, which of the 

following statement is/are correct ? 

1. It is an intergovernmental 

organization formed by the 

countries which are 

signatories to Ramsar 

Convention. 

2. It works at the field level to 

develop and mobilize 

knowledge, and use the 

practical experience to 

advocate for better policies. 

Select the correct answer using the 

code given below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

11. With reference to a grouping of 

countries known as BRICS, consider 

the following statements : 

1. The First Summit of BRICS 

was held in Rio de Janeiro in 

2009. 

2. South Africa was the last to 

join the BRICS grouping. 

Which of  the statements given 

above is/are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

12. Consider the following diseases : 

 1. Diphtheria 

 2. Chickenpox 

 3. Smallpox 

which of the above diseases has/have been 

cradicated in India ? 

 (a) 1 and 2 only 

 (b) 3 only 

 (c) 1, 2 and 3 
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 (d) None 

 

9- fuEufyf[kr ;qXeksa ij fopkj dhft, % 

 1- nkEik Vkbxj % fet+ksje 

  fjt+oZ 

 2- xqeVh oU;tho % flfDde 

  vHk;kj.; 

 3- lkjkerh f’k[kj % ukxkyS.M 

mi;qZä ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr 

gS@gSa \ 

¼a½ dsoy 1 

¼b½ dsoy 2 vkSj 3 

¼c½ dsoy 1 vkSj 3 

¼d½ 1] 2 vkSj 3 

10- ^osVySaM~l baVjus’kuy^ uked laj{k.k laxBu 

ds lUnHkZ esa fuEufyf[kr esa ls dkSu&lk@ls 

dFku lgh gS@gSa\ 

1- ;g jkelj vfHkle; ds gLrk{kjdrkZ 

ns’kksa }kjk cuk;k x;k ,d 

vUr%ljdkjh laxBu gSA 

2- ;g Kku ds fodkl vkSj laxzg.k ds 

fy, rFkk O;kogkfjd vuqHko dk 

csgrj uhfr;ksa gsrq i{kleFkZu djus ds 

fy, {ks= Lrj ij dk;Z djrk gSA 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 

pqfu,A 

¼a½ dsoy 1 

¼b½ dsoy 2 

¼c½ 1 vkSj 2 nksuksa 

¼d½ u rks 1 vkSj u gh 2 

 

11- BRICS  ds :Ik esa Kkr ns’kksa ds ,d lewg 

ds lUnHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft, % 

1- BRICS dk igyk f’k[kj lEesyu 

fjvks ns tsusjks esa 2009 esa gqvk FkkA 

2- nf{k.k vÝhdk BRICS lewg esa 

vUr esa 'kkfey gqvkA 

mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

¼a½ dsoy 1 

¼b½ dsoy 2 

¼c½ 1 vkSj 2 nksuksa 

¼d½ u rks 1 vkSj u gh 2 

12- fuEufyf[kr jksxksa ij fopkj dhft, % 

 1- fM¶Fkhfj;k 

 2- NksVh ekrk ¼fpdsuikWDl½ 

 3- pspd ¼LekWyikWDl½ 

mi;qZä esa ls fdl jksx@fdu jksxksa dk Hkkjr esa mUewyu 

gks pqdk gS \ 

¼a½ dsoy 1 vkSj 2 

¼b½ dsoy 3 

¼c½ 1] 2 vkSj 3 

¼d½ dksbZ ugha 

 

13. Which of the following phenomena 

might have influenced the evolution 

of organisms? 

 1. Continental drift 

 2. Glacial cycles 

Select the correct answer using the 

code given below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

14. Other than poaching, what are the 

possible reasons for the decline in 
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the population of Ganges River 

Dolphins ?  

1. Construction of dams and 

barrages on rivers 

2. Increase in the population of 

crocodiles in rivers 

3. Getting trapped in fishing 

nets accidentally 

4. Use of synthetic fertilizers 

and other agricultural 

chemicals in crop-fields in 

the vicinity of rivers. 

Select the correct answer using the 

code given below. 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1, 3 and 4 only 

(d) 1, 2, 3 and 4 

 

15. The Radcliffe Committee was 

appointed to  

(a) solve the problem of 

minorities in India. 

(b) give effect to the 

Independence Bill 

(c) delimit the boundarics 

between India and Pakistan 

(d) enquire into the riots in East 

Bengal 

16. Brominated flame retardants are used 

in many household products like 

mattresses and upholstery. Why is 

there some concern about their use ? 

1. They are highly resistant to 

degradation in the 

environment. 

2. They are able to accumulate 

in humans and animals. 

Select the correct answer using the 

code given below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

13. fuEufyf[kr esa ls fdl ?kVuk@fdu ?kVukvksa 

us thoksa ds fodkl dks izHkkfor fd;k gksxk \ 

 1- egk}hih; foLFkkiu 

 2- fgekuh pØ 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 

pqfu,A 

¼a½ dsoy 1 

¼b½ dsoy 2 

¼c½ 1 vkSj 2 nksuksa 

¼d½ u rks 1 vkSj u gh 2 

14- xaxk unh MkWy~fQu dh lef"V esa âkl ds fy, 

f’kdkj&pksjh ds vykok vkSj D;k lEHko dkj.k 

gSa \ 

1- ufn;ksa ij ck¡/kksa vkSj cjktksa dk 

fuekZ.k 

2- ufn;ksa esa exjePNksa dh lef"V esa 

o`f) 

3- la;ksx ls eNyh idM+us ds tkyksa esa 

Q¡l tkukA 

4- ufn;ksa ds vkl&ikl dss Qly&[ksrksa 

esa laf’y"V moZjdksa vkSj vU; d`f"k 

jlk;uksa dk bLrseky 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 
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pqfu,A 

¼a½ dsoy 1 vkSj 2 

¼b½ dsoy 2 vkSj 3 

¼c½ dsoy 1] 3 vkSj 4 

¼d½ 1] 2] 3 vkSj 4 

15- jSMfDyQ lfefr fdlfy, fu;qä dh xbZ Fkh\ 

¼a½ Hkkjr esa vYila[;dksa dh leL;k dks 

lqy>kus ds fy, 

¼b½ Lora=rk fo/ks;d dks dk;Z:Ik esa 

ifj.kr djus ds fy, 

¼c½ Hkkjr vkSj ikfdLrku ds chp lhekvksa 

dks fu/kkZfjr djus ds fy, 

¼d½ iwohZ caxky ds naxksa dh tk¡p djus ds 

fy, 

16- dbZ ?kjsyw mRiknksa] tSls xíksa vkSj QuhZpj dh 

xfí;ksa ¼vigksYLVjh½] esa czksehu;qä Tokyk 

eandksa dk mi;ksx fd;k tkrk gSA mudk 

mi;ksx D;ksa dqN fpUrk dk fo"k; gS\ 

1- muesa Ik;kZoj.k esa fuEuhdj.k ds izfr 

mPp izfrjks/kdrk gSA 

2- os euq";ksa vkSj Ik’kqvksa esa lafpr gks 

ldrs gSaA 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 

pqfu,A 

¼a½ dsoy 1 

¼b½ dsoy 2 

¼c½ 1 vkSj 2 nksuksa 

¼d½ u rks 1 vkSj u gh 2 

 

17. Consider the following : 

 1. Bats 

 2. Bears 

 3. Rodents 

The phenomenon of  hibernation can be 

observed in which of the above kinds of 

animals ? 

 (a) 1 and 2 only 

 (b) 2 only 

 (c) 1, 2 and 3 

 (d) Hibernation cannot be    

observed in any of the above 

18. Which one of the following is the 

largest Committee of the Parliament? 

(a) The Committee on Public 

Accounts 

(b) The Committee on Estimates 

(c) The Committee on Public 

Undertakings 

(d) The Committee  on Petitions 

19. Which of the following adds/add 

carbon dioxide to the carbon cycle 

on the planet Earth? 

 1. Volcanic action 

 2. Respiration 

 3. Photosynthesis 

 4. Decay of organic matter 

Select the correct answer using the code  

given below. 

(a) 1 and 3 only 

(b) 2 only 

(c) 1, 2 and 4 only 

(d) 1, 2,3 and 4 

20. If you walk through countryside, you 

are likely to see some birds atalking 

alongside the cattle to seize the 

insects disturbed by their movement 
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through grasses. Which of the 

following is /are such bird/birds? 

 1. Painted Stork 

 2. Common Myna 

 3. Black-necked Crane 

Select the correct answer using the code 

given below. 

 (a) 1 and 2 

 (b) 2 only 

 (c) 2 and 3 

 (d) 3 only 

 

17. fuEufyf[kr ij fopkj dhft, % 

 1- pexknM+ 

 2- Hkkyw 

 3- d`Urd ¼jksMsUV½ 

mi;qZä esa ls fdl izdkj ds tUrq esa 'khrfuf"Ø;rk dh 

ifj?kVuk dk izs{k.k fd;k tk ldrk gS \ 

¼a½ dsoy 1 vkSj 2 

¼b½ dsoy 2 

¼c½ 1] 2 vkSj 3 

¼d½ 'khrfuf"Ø;rk mi;qZä esa ls fdlh esa Hkh ugha 

izsf{kr dh tk ldrh 

 

18- fuEufyf[kr esa ls dkSu&lh ,d lcls cM+h 

lalnh; lfefr gS \ 

 ¼a½ yksd ys[kk lfefr 

 ¼b½ izkDdyu lfefr 

 ¼c½ ljdkjh miØe lfefr 

 ¼d½ ;kfpdk lfefr ¼dfeVh vkWu  

fifV’kUl½ 

19- fuEufyf[kr esa ls dkSu&lk@ls i`Foh xzg ij 

dkcZu pØ esa dkcZu MkbvkWDlkbM dk ;ksxnku 

djrk gS@ djrs gSa\ 

 1- Tokykeq[kh fØ;k 

 2- JOlu 

 3- izdk’k&la’ys"k.k 

 4- tSo inkFkZ dk {k; 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj pqfu,A 

¼a½ dsoy 1 vkSj 3 

¼b½ dsoy 2 

¼c½ dsoy 1] 2 vkSj 4 

¼d½ 1] 2] 3 vkSj 4 

 

20- ;fn vki xzkeh.k {ks= ls gksdj xqtjrs gSa] rks 

vkidks ;g ns[kus dks fey ldrk gS fd vusd 

izdkj ds i+{kh] pjus okys Ik’kqvksa@HkSalksa ds 

ihNs&ihNs pyrs gSa vkSj muds ?kkl esa pyus 

ls v’kkUr gksus okys dhVksa dks idM+rs gSaA 

fuEufyf[kr esa ls dkSu&lk@ls ,slk@,sls i{kh 

gS@gSa \ 

 1- fpf=r cykd 

 2- lk/kkj.k eSuk 

 3- dkyh xnZu okyk lkjl 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 

pqfu,A 

¼a½ 1 vkSj 2 

¼b½ dsoy 2 

¼c½ 2 vkSj 3 

¼d½ dsoy 3 

 

21. In medieval India, the designations 

‘Mahattara’ and ‘Pattakila’ were 

used for 

(a) military officers 

(b) village headmen 

(c) specialists in Vedic rituals 

(d) chiefs of craft guilds 
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22. Lichens, which are capable of 

initiating ecological succession even 

on a bare rock, are actually a 

symbiotic association of 

 (a) algae and bacteria 

 (b) algae and fungi 

 (c) bacteria and fungi 

 (d) fungi and mosses 

 

23. If you travel through the Himalayas, 

you are likely to see which of the 

following plants naturally growing 

there? 

 1. Oak 

 2. Rhododendron 

 3. Sandalwood 

 

Select the correct answer using the code 

given below. 

(a) 1 and 2 only 

(b) 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

24. Which of the following are some 

important pollutants released by steel 

industry in India ? 

 1. Oxides of sulphur 

 2. Oxides of nitrogen 

 3. Carbon monoxide 

 4. Carbon dioxide 

Select the correct answer using the code 

given below. 

(a) 1, 3 and 4 only 

(b) 2 and 3 only 

(c) 1 and 4 only 

(d) 1, 2, 3 and 4 

 

25. Which of the following Kingdome 

were associated with the life of the 

Buddha? 

 1. Avanti 

 2. Gandhara 

 3. Kosala 

 4. Magadha 

Select the correct answer using the code 

given below. 

 (a) 1, 2 and 3 

 (b) 2 and 4 

(c) 3 and 4 only 

(d) 1, 3 and 4 

 

 

21. e/;dkyhu Hkkjr esa ^egŸkj^ vkSj ^iêfdy^ 

inuke fduds fy, iz;qä gksrs Fks \ 

 (a) lSU; vf/kdkjh 

¼b½ xzke eqf[k;k 

¼c½ oSfnd deZdk.M ds fo’ks"kK 

¼d½ f’kYih Jsf.k;ksa ds izeq[k 

 

22- ykbdsu] tks ,d uxz pêku ij Hkh 

ikfjfLFkfrd vuqØe dks izkjEHk djus esa l{ke 

gSa] okLro esa fduds lgthoh lkgp;Z gSa \ 

 ¼a½ 'kSoky vkSj thok.kq 

¼b½ 'kSoky vkSj dod 

¼c½ thok.kq vkSj dod 

¼d½ dod vkSj ekWl 
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23- ;fn vki fgeky; ls gksdj ;k=k djrs gSa] rks 

vkidks ogk¡ fuEufyf[kr esa ls fdl 

ikni@fdu ikniksa dks izkd`frd :Ik esa mxrs 

gq, fn[kus dh lEHkkouk gS\ 

 1- ckat 

 2- cq#a’k 

 3- panu 

 uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 

pqfu,A 

¼a½ dsoy 1 vkSj 2 

¼b½ dsoy 3 

¼c½ dsoy 1 vkSj 3 

¼d½ 1] 2 vkSj 3 

 

24- fuEufyf[kr esa ls dkSu&ls dqN egŸoiw.kZ 

iznw"kd gSa tks Hkkjr esa bLikr m|ksx }kjk eqä 

fd, tkrs gSa \ 

 1- lYQj ds vkWDlkbM 

 2- ukbVªkstu ds vkWDlkbM 

 3- dkcZu eksuksvkWDlkbM 

 4- dkcZu MkbvkWDlkbM 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 

pqfu,A  

¼a½ dsoy 1] 3 vkSj 4 

¼b½ dsoy 2 vkSj 3 

¼c½ dsoy 1 vkSj 4 

¼d½  1] 2] 3 vkSj 4 

 

25- fuEufyf[kr jkT;ksa esa ls fdudk lEcU/k cq) 

ds thou ls Fkk \ 

 1- vofUr 

 2- xkU/kkj 

 3- dksly 

 4- ex/k 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 

pqfu,A 

¼a½ 1] 2 vkSj 3 

¼b½ 2 vkSj 4 

¼c½ dsoy 3 vkSj 4 

¼d½ 1] 3 vkSj 4 

 

26. Every year, a monthlong 

ecologically important 

campaign/festival is held during 

which certain communities/tribes 

plant saplings of fruit-bearing trees. 

Which of the following are such 

communities/tribes? 

 (a) Bhutia and Lepcha 

(b) Gond and Korku 

(c) Irula and Toda 

(d) Sahariya and Agariya 

27. The sales tax you pay while 

purchasing a toothpaste is a 

(a) tax imposed by the Central 

Government 

(b) tax imposed by the     Central 

Government but collected by 

the State Government 

(c) tax imposed by the State 

Government but collected by 

the Central Government  

(d) tax imposed and collected by 

the State Government 

28. What does venture capital mean? 

(a) A short-term capital provided 

to industries 
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(b) A long-term state-up capital 

provided to new 

entrepreneurs 

(c) Funds provided to industries 

at time of incurring losses 

(d) Funds provided for 

replacement and renovation 

of industries 

29. The main objective of the 12th Five-

Year Plan is 

(a) inclusive growth and poverty 

reduction 

(b) inclusive and sustainable 

growth 

(c) sustainable and inclusive 

growth to reduce 

unemployment 

(d) faster, sustainable and more 

inclusive growth 

30. With reference to Balance of 

Payments, which of the following 

constitutes/constitute the Current 

Account? 

 1. Balance of trade 

 2. Foreign assets 

 3. Balance of invisibles 

 4. Special Drawing Rights 

 

Select the correct answer using the code 

given below. 

(a) 1 only 

(b) 2 and 3 

(c) 1 and 3 

(d) 1, 2 and 4 

31. The terms ‘Marginal Standing 

Facility Rate’ and ‘Net Demand and 

Time Liabilities’, sometimes 

appearing in news, are used in 

relation to 

 (a) banking operations 

 (b) communication networking 

 (c) military stratefies 

(d) supply and demand of 

agricultural products 

 

26. izR;sd o"kZ dfri; fof’k"V leqnk;@tutkfr] 

ikfjfLFkfrd :Ik ls egŸoiw.kZ] ekl&Hkj pyus 

okys vfHk;ku@R;kSgkj ds nkSjku Qynkj o`{kksa 

dh ikS/k dk jksi.k djrs gSaA fuEufyf[kr esa ls 

dkSu&ls ,sls leqnk;@tutkfr gSa \ 

 (a) HkwfV;k vkSj ysIpk 

 ¼b½ xksaM vkSj dksdwZ 

 ¼c½ b#yk vkSj rksMk 

 ¼d½ lgfj;k vkSj vxfj;k 

27- foØ;&dj] ftldk Hkqxrku vki dksbZ VwFkisLV 

[kjhnrs le; djrs gSa] fuEufyf[kr esa ls fdl 

izdkj dk dj gS \ 

 ¼a½ dsUnz ljdkj }kjk vkjksfir dj  

 ¼b½ dsUnz ljdkj }kjk vkjksfir fdUrq  

jkT;  ljdkj }kjk laxzghr dj 

¼c½ jkT; ljdkj }kjk vkjksfir fdUrq 

dsUnz ljdkj }kjk laxzghr dj 

¼d½ jkT; ljdkj }kjk vkjksfir ,oa 

laxzghr dj 

 

28- tksf[ke iw¡th ls D;k rkRi;Z gSa \ 
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¼a½ m|ksxksa dks miYkC/k djkbZ xbZ 

vYidkuhu iw¡th  

¼b½ u;s m|fe;ksa dks miyC/k djkbZ xbZ 

nh?kZdkyhu izkjfEHkd iw¡th 

¼c½ m|ksxksa dks gkfu mBkrs le; miyC/k 

djkbZ xbZ fuf/k;k¡ 

¼d½ m|ksxksa ds izfrLFkkiu ,oa uohdj.k 

ds fy, miyC/k djkbZ xbZ fuf/k;k¡ 

29- ckjgoha iapo"khZ; ;kstuk dk eq[; mís’; D;k 

gS \ 

¼a½ lekos’kh fodkl vkSj xjhch 

U;wuhdj.k 

¼b½ lekos’kh ,oa /kkj.kh; fodkl 

¼c½ csjkstxkjh ?kVkus gsrq /kkj.kh; ,oa 

lekos’kh fodkl 

¼d½ rhozrj] /kkj.kh; ,oa T;knk lekos’kh 

fodkl 

30- Hkqxrku lUrqyu ds lUnHkZ esa fuEufyf[kr esa 

ls fdlls@fduls pkyw [kkrk curk gS \ 

 1- O;kikj lUrqyu 

2- fons’kh ifjlEifŸk;k¡ 

3- vn`’;ksa dk lUrqyu 

4- fo’ks"k vkgj.k vf/kdkj 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 

pqfu,A 

¼a½ dsoy 1 

¼b½ 2 vkSj 3 

¼c½ 1 vkSj 3 

¼d½ 1] 2 vkSj 4 

31- ^lhekUr LFkk;h lqfo/kk nj^ rFkk ^fuoy ek¡x 

vkSj lkof/k ns;rk,¡^ incU/k dHkh&dHkh 

lekpkj esa vkrs jgrs gSaA mudk iz;ksx fdlds 

lEcU/k esa fd;k tkrk gS\ 

 ¼a½ cSad dk;Z 

¼b½ lapkj usVofdZax 

¼c½ ;q) dkS’ky 

¼d½ d`f"k mRiknksa dh iwfrZ ,oa ek¡x 

32. What is/are the facility/facilities the 

beneficiaries can get from the 

services of Bussiness 

Correspondent(Bank Saathi) in 

branchless areas ? 

1. It enables the beneficiaries to 

draw their subsidies and 

social security benefits in 

their villages. 

2. It enables the beneficiaries in 

the rural areas to make 

deposits and withdrawals. 

Select the correct answer using the 

code given below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

33. In the context of Indian Economy, 

which of the following is/are the 

purpose/purposes of ‘Statutory 

Reserve Requirements’ ? 

1. To enable the Central Bank 

to control the amount of 

advances the banks can create 

2. To make the people’s 

deposits with banks safe and 

liquid 
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3. To prevent the commercial 

banks from making excessive 

profits 

4. To force the banks to have 

sufficient vault cash to meet 

their day-to-day requirements 

 

Select the correct answer using the code 

given below. 

(a) 1 only 

(b) 1 and 2 only 

(c) 2 and 3 only 

(d) 1, 2, 3 and 4 

 

34.  Recently, a series of uprisings of 

people referred to as ‘Arab Spring’ 

originally started from 

 (a) Egypt 

 (b) Lebanon 

(c) Syria 

(d) Tunisia 

 

35. Consider the following countries : 

 1. Denmark 

 2. Japan 

 3. Russian Federation 

4. United Kingdom 

5. United States of America 

Which of the above are the members of the 

‘Arctic Council’? 

(a) 1, 2 and 3 

(b) 2,3 and 4 

(c) 1, 4 and 5 

(d) 1, 3 and 5 

 

36. Consider the following pairs : 

Region often   Country 

    in news 

1. Chechnya : Russian 

Federation 

 2. Darfur : Mali 

 3. Swat Valley : lraq 

Which of the above pairs is/are correctly 

matched ? 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

32- 'kk[kkjfgr {ks=ksa esa O;kolkf;d laoknnkrkvksa 

¼cSad lkFkh½ dh lsokvksa }kjk ykHkkfFkZ;ksa dks 

dkSu&lh lqfo/kk@lqfo/kk¡, izkIr gksrh gS@gSa\ 

1- ;g ykHkkfFkZ;ksa dks vius xk¡o esa vius 

lkgk¸; vkSj lkekftd lqj{kk ykHk 

izkIr djus ;ksX; cukrh gSA 

2- ;g xzkeh.k {ks=ksa esa ykHkkfFkZ;ksa dks 

/kujkf’k tek djus o vkgj.k djus 

;ksX; cukrh gSA 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 

pqfu,A 

¼a½ dsoy 1 

¼b½ dsoy 2 

¼c½ 1 vkSj 2 nksuksa 

¼d½ u rks 1 vkSj u gh 2 

33- Hkkjrh; vFkZO;oLFkk ds lUnHkZ esa fuEufyf[kr 

esa ls dkSu&lk@ls ^lkafof/kd vkjf{kr 

vko’;drkvksa^ dk@ds mís’; gS@gSa \ 
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1- dsUnzh; cSad dks] cSadksa }kjk fufeZr dh 

tk ldus okyh vfxze jkf’k;ksa ij 

fu;a=.k j[kus dh l{kerk iznku 

djuk 

2- cSadksa esa turk dh tek jkf’k;ksa dks 

lqjf{kr o rjy j[kuk 

3- O;kolkf;d cSadksa dks vR;f/kd ykHk 

dekus ls jksduk 

4- cSadksa dks fnu&izfrfnu dh 

vko’;drkvksa dks iwjk djus ds fy, 

Ik;kZIr dks"B udnh ¼okWYV dS’k½ j[kus 

dks ck/; djuk 

 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 

pqfu,A 

¼a½ dsoy 1 

¼b½ dsoy 1 vkSj 2 

¼c½ dsoy 2 vkSj 3 

¼d½ 1] 2] 3 vkSj 4 

34- gky gh esa ,d tu&fonzksg J`a[kyk] ftls ^vjc 

fLizax^ dgk x;k] ewyr% fdl ns’k ls 'kq: gqbZ\ 

 ¼a½ felz ¼bZft+IV½ 

¼b½ yscukWu 

¼c½ lhfj;k 

¼d½ Vîwuhf’k;k 

35- fuEufyf[kr ns’kksa ij fopkj dhft, % 

 1- MsuekdZ 

 2- tkiku 

 3- jf’k;u QsMjs’ku 

 4- ;wukbVsM fdaxMe 

 5- ;wukbVsM LVsV~l vkWQ vesfjdk 

mi;qZä esa ls dkSu&ls ^vkdZfVd dkmfUly^ ds 

lnL; gSa\ 

¼a½ 1] 2 vkSj 3 

¼b½ 2] 3 vkSj 4 

¼c½ 1] 4 vkSj 5 

¼d½ 1] 3 vkSj 5 

36- fuEufyf[kr ;qXeksa ij fopkj dhft, % 

{ks= tks izk;% lekpkjksa  ns’k 

     esa vkrk gS 

1- pspU;k  % jf’k;u QsMjs’ku 

2- nkjQqj  % ekyh 

3- Lokr ?kkVh % bjkd 

mi;qZä esa ls dkSu&lk@ls ;qXe lgh lqesfyr 

gS@gSa \ 

¼a½ dsoy 1 

¼b½ dsoy 2 vkSj 3 

¼c½ dsoy 1 vkSj 3 

¼d½ 1] 2 vkSj 3 

 

37. With reference to Agni-IV Missile, 

which of the following statements 

is/are correct? 

1. It is a surface-to-surface missile. 

2. It is fuelled by liquid propellant only 

3. It can deliver one-tonne nuclear 

warheads about 7500 km away. 

Select the correct answer using the code 

given below. 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

38. With reference to two 

nonconventional energy sources 

called ‘coalbed methane’ and ‘shale 

gas’, consider the following 

statements : 
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1. Coalbed methane is the pure 

methane gas extracted from 

coal seams, while shale gas is 

a mixure of propane and 

butane only that can be 

extracted from fine-grained 

sedimentary rocks. 

2. In India abundant coalbed 

methane sources exist, but so 

far no shale gas sources have 

been found. 

Which of the statements given above 

is/are correct ? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

39. With reference to ‘Changpa’ 

community of india, consider the 

following statements : 

1. They live mainly in the State 

of Uttarakhand. 

2. They rear the Pashmina goats 

that yield a fine wool. 

3. They are kept in the category 

of Scheduled Tribes. 

Which of the statements given above 

is/are correct? 

(a) 1 only 

(b) 2 and 3 only 

(c) 3 only 

(d) 1, 2 and 3 

40. In India, cluster bean (Guar) is 

traditionally used as a vegetable or 

animal feed, but recently the 

cultivation of this has assumed 

significance. Which one of the 

following statements is correct in 

this context ? 

(a) The oil extracted from seeds 

is used in the manufacture of 

biodegradable plastics 

(b) The gum made from its seeds 

is used in the extraction of 

shale gas 

(c) The leaf extract of this plant 

has the properties of 

antihistamines. 

(d) It is a source of high quality 

biodiesel 

 

 

 

37- vfxz&IV iz{ksikL= ds lUnHkZ esa fuEufyf[kr 

dFkuksa esa ls dkSu&lk@ls lgh gS@gSa \ 

1- ;g /kjkry&ls&/kjkry rd ekj 

djus okyk iz{ksikL= gSA 

2- blesa dsoy nzo uksnd bZa/ku ds :Ik 

esa bLrseky gksrk gSA 

3- ;g ,d&Vu ukfHkdh; okjgsM dks 

7500 fdyksehVj nwjh rd Qsad 

ldrk gSA 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 

pqfu,A 

¼a½ dsoy 1 

¼b½ dsoy 2 vkSj 3 



www.afeias.com
UPSC PRE 2014 Paper

18 

 
¼c½ dsoy 1 vkSj 3 

¼d½ 1] 2 vkSj 3 

38- ^dks;yk&laLrj eSFksu^ vkSj ^’ksy xSl^ uked 

nks xSj&ijEijkxr ÅtkZ lzksrksa ds lUnHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft, % 

1- dks;yk&laLrj eSFksu] dks;yk laf/k;ksa ls 

fu"df"kZr 'kq) eSFksu xSl gS] tcfd 'ksy xSl 

dsoy izksisu vkSj C;wVsu dk ,d feJ.k gS tks 

lw{edf.kd volknh 'kSyksa ls fu"df"kZr dh tk 

ldrh gSA 

2- Hkkjr esa dks;yk&laLrj eSFksu lzksr cgqrk;r esa 

gSa] fdUrq vc rd 'ksy xSl ds lzksr ugha ik, 

x, gSaA 

mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@ gSa \ 

¼a½ dsoy 1 

¼b½ dsoy 2 

¼c½ 1 vkSj 2 nksuksa 

¼d½ u rks 1 vkSj u gh 2 

 

39- Hkkjr ds ^pkaXik^ leqnk; ds lUnHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft, % 

1- os eq[;r% mŸkjk[k.M jkT; esa jgrs 

gSaA 

2- os vPNs fdLe dk Åu nsus okys 

Ik’ehuk cdjksa&cdfj;ksa dks ikyrs gSaA 

3- mUgsa vuqlwfpr tutkfr;ksa dh Js.kh 

esa j[kk tkrk gSA 

mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

¼a½ dsoy 1 

¼b½ dsoy 2 vkSj 3 

¼c½ dsoy 3 

¼d½ 1] 2 vkSj 3 

40- Hkkjr esa Xokj ¼DyLVj chu½ dk ikjEifjd :Ik 

ls lCth ;k Ik’kq vkgkj ds :Ik esa mi;ksx 

fd;k tkrk gS] fdUrq gky gh esa bldh [ksrh us 

egŸo dk LFkku izkIr fd;k gSA bl lUnHkZ esa 

fuEufyf[kr esa ls dkSu&lk ,d dFku lgh 

gS\ 

¼a½ chtksa ls fudkyk x;k rsy 

tSo&fuEuhdj.kh; lq?kV;ksa ds fuekZ.k 

esa iz;qä gksrk gS 

¼b½ blds chtksa ls fufeZr xksan 'ksy xSl 

ds fu"d"kZ.k esa iz;qä gksrk gS 

¼c½ bl ikS/ks dh ifŸk;ksa ds lkj esa 

izfrfgLVkfeu xq.k/keZ gksrk gS 

¼d½ ;g mPp xq.krk ds tSo&Mhty dk 

,d lzksr gS 

 

41. Which of the following have coral 

reefs ? 

1. Andaman and Nicobar Islands 

2. Gulf of Kachchh 

3. Gulf  of Mannar 

4.  Sunderbans 

Select the correct answer using the code 

given below. 

(a) 1, 2 and 3 only 

(b) 2 and 4 only 

(c) 1 and 3 only 

(d) 1, 2, 3 and 4 

 

 

42. In India, the problem of soil erosion 

is associated with which of the 

following ? 

 1. Terrace cultivation 

 2. Deforestation 

 3. Tropical climate 

 Select the correct answer using the 

code given below. 
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 (a) 1 and 2 only 

 (b) 2 only 

 (c) 1 and 3 only 

 (d) 1, 2 and 3 

43. The seasonal reversal of winds is the 

typical characteristic of 

 (a) Equatorial climate 

(b) Mediterranean climate 

(c) Monsoon climate 

(d) All of the above climates 

44. With reference to the cultural history 

of India the term ‘Panchayatan’ 

refers to 

 (a) an assembly of village elders 

 (b) a religious sect 

(c) a style of temple construction 

(d) an administrative functionary 

45. Consider the following rivers : 

1. Barak 

2. Lohit 

3. Subansiri 

Which of the above flows/flow through 

Arunachal Pradesh ? 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

46. Consider the following pairs : 

Wetlands  Confluence of 

           rivers 

1. Harike Wetlands   : Confluence of     

Beas and 

Satluj/Sutlej  

2. Keoladeo Ghana    :    Confluence of     

National Park   Banas and 

   Chambal 

3. Kolleru Lake        : Confluence of 

    Musi and  

    Krishna 

Which of the above pairs is/are correctly 

matched ? 

(a) 1 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 
41- fuEufyf[kr esa ls fduesa izoky&fHkfŸk;k¡ gSa \ 
 1- vUneku vkSj fudksckj }hilewg 

 2- dPN dh [kkM+h 

 3- eékj dh [kkM+h 

 4- lqUnjou 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj pqfu,A 

¼a½ dsoy 1] 2 vkSj 3 

¼b½ dsoy 2 vkSj 4 

¼c½ dsoy 1 vkSj 3 

¼d½ 1] 2] 3 vkSj 4 

42- Hkkjr esa e`nk vi{k; leL;k fuEufyf[kr esa ls 

fdlls@fduls lEcfU/kr gS@gSa\ 

 1- osfndk d`f"k 

2- ouksUewyu 

3- m".kdfVcU/kh tyok;q 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 

pqfu,A 

¼a½ dsoy 1 vkSj 2 

¼b½ dsoy 2 

¼c½ dsoy 1 vkSj 3 
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¼d½ 1] 2 vkSj 3 

43- iouksa dk ekSleh mRØe.k fdldk iz:ih 

vfHky{k.k gS\ 

 ¼a½ Hkwe/;js[kh; tyok;q 

¼b½ Hkwe/;lkxjh; tyok;q 

¼c½ ekulwu tyok;q 

¼d½ mi;qZä lHkh tyok;q 

44- Hkkjr ds lkaLd`frd bfrgkl ds lUnHkZ esa 

^iapk;ru^ 'kCn fdls fufnZ"V djrk gS \ 

 ¼a½ xzke ds T;s"B&tuksa dh lHkk 

¼b½ /kkfeZd lEiznk; 

¼c½ efUnj jpuk&’kSyh 

¼d½ iz’kklfud vf/kdkjh 

45- fuEufyf[kr ufn;ksa ij fopkj dhft, % 

1- cjkd 

2- yksfgr 

3- lqcfUlfj 

mi;Zqä esa ls dkSu&lh v#.kkpy izns’k ls 

gksdj cgrh gS@gSa\ 

¼a½ dsoy 1 

¼b½ dsoy 2 vkSj 3 

¼c½ dsoy 1 vkSj 3 

¼d½ 1] 2 vkSj 3 

46- fuEufyf[kr ;qXeksa ij fopkj dhft, % 

vknzZHkwfe    ufn;kasa dk laxe 

 1-     gfjd vknzZHkwfe %  O;kl vkSj 

 lryqt dk laxe 

 2-     dsoyknso ?kuk %  cukl vkSj 

       jk"Vªh; m|ku        pEcy dk laxe  

3- dksys: >hy %  eqlh vkSj d`".kk 

   dk laxe 

mi;qZä ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr 

gS@gSa\ 

¼a½ dsoy 1 

¼b½ dsoy 2 vkSj 3 

¼c½ dsoy 1 vkSj 3 

¼d½ 1] 2 vkSj 3 

 

47. Which one of the following pairs 

does not form part of the six systems 

of Indian Philosophy? 

 (a) Mimamsa and Vedanta 

(b) Nyaya and Vaisheshika 

(c) Lokayata and Kapalika 

(d) Sankhya and Yoga 

48. Consider the following pairs : 

     Hills  Region 

1. Cardamom Hills   : Coromandel 

    Coast 

2. Kaimur Hills       : Konkan Coast 

3. Mahadeo Hills       : Central India 

4. Mikir Hills       : North-East  

                                                India 

 

Which of the above pairs are correctly 

matched? 

(a) 1 and 2 

(b) 2 and 3 

(c) 3 and 4 

(d) 2 and 4 

49. Which one of the following 

Schedules of the Constitution of 

India contains provisions regarding 

anti-defection? 

 (a) Second Schedule 

(b) Fifth Schedule 

(c) Eighth Schedule 

(d) Tenth Schedule 
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50. The most important strategy for the 

conservation of biodiversity together 

with traditional human life is the 

establishment of 

 (a) biosphere reserves 

(b) botanical gradens 

(c) national parks 

(d) wildlife sanctuaries 

51. Turkey is located between 

(a) Black Sea and Caspian Sea 

(b) Black Sea and Mediterranean 

Sea 

(c) Gulf of Suez and 

Mediterranean Sea 

(d) Gulf of Aqaba and Dead Sea 

52. What is the correct sequence of 

occurrence of the following cities in 

South-East Asia as one proceeds 

from south to north? 

 1. Bangkok 

 2. Hanoi 

3. Jakarta 

50. The most important strategy for the 

conservation of biodiversity together 

with traditional human life is the 

establishment of 

 (a) biosphere reserves 

(b) botanical gardens 

(c) national parks 

(d) wildlife sanctuaries 

51. Turkey is located between 

(a) Black Sea and Caspian Sea 

(b) Black Sea and Mediterranean 

Sea 

(c) Gulf of Suez and 

Mediterranean Sea 

(d) Gulf of Aqaba and Dead Sea 

52. What is the correct sequence of 

occurrence of the following cities in 

South-East Asia as one proceeds 

from south to north? 

 1. Bangkok 

2. Hanoi 

3. Jakarta 

4. Singapore 

select the correct answer using the 

code given below. 

(a) 4-2-1-3 

(b) 3-2-4-1 

(c) 3-4-1-2 

(d) 4-3-2-1 

 

47- fuEufyf[kr ;qXeksa esa ls dkSu&lk ,d Hkkjrh; 
"kM~n’kZu dk Hkkx ugha gS \ 

  ¼a½ ehekalk vkSj osnkUr 
  ¼b½ U;k; vkSj oS’ksf"kd 

¼c½ yksdk;r vkSj dkykfyd 
¼d½ lka[; vkSj ;ksx 

 
48- fuEufyf[kr ;qXeksa ij fopkj dhft, % 

   igkfM+;k¡         {ks= 
1- dkMkZeWe igkfM+;k¡ %  dksjkse.My rV 
2- dSewj igkfM+;k¡    %  dksad.k rV 
3- egknso igkfM+;k¡  %  e/; Hkkjr 
4- fefdj igkfM+;k¡   % iwoksZŸkj Hkkjr 
mi;qZä ;qXeksa esa ls dkSu&ls lgh lqesfyr gSa \ 

¼a½ 1 vkSj 2 
¼b½ 2 vkSj 3 
¼c½ 3 vkSj 4 
¼d½ 2 vkSj 4 
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49- Hkkjr ds lafo/kku dh fuEufyf[kr esa ls 

dkSu&lh ,d vuqlwph esa ny&cny fojks/k 
fo"k;d micU/k gSa \ 
¼a½ nwljh vuqlwph 
¼d½ ik¡poha vuqlwph 
¼c½ vkBoha vuqlwph 
¼d½ nloha vuqlwph 

 
50- tSo&fofo/krk ds lkFk&lkFk euq"; ds 

ijEijkxr thou ds laj{k.k ds fy, lcls 
egŸoiw.kZ j.kuhfr fuEufyf[kr esa ls fdl ,d 
dh LFkkiuk djus esa fufgr gS\ 
¼a½ thoe.My fup; ¼fjt+oZ½ 
¼b½ okuLifrd m|ku 
¼c½ jk"Vªh; miou 
¼d½ oU;tho vHk;kj.; 

 
51- VdhZ fduds e/; fLFkr gS \ 

¼a½ dkyk lkxj vkSj dSfLi;u lkxj 
¼b½ dkyk lkxj vkSj Hkwe/; lkxj 
¼c½ Lost dh [kkM+h vkSj Hkwe/; lkxj 
¼d½ vdkck dh [kkM+h vkSj e`r lkxj 

 
52- nf{k.k&iwohZ ,f’k;k esa nf{k.k ls mŸkj dh vksj 

tkus ij uhps fn, x, uxjksa dk lgh 
fLFkfrØe D;k gS\ 

 ¼a½ cSadkWd 
¼b½ guksb 
¼c½ tdkrkZ 
¼d½ flaxkiqj 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj pqfu,A 
¼a½ 4&2&1&3 
¼b½ 3&2&4&1 
¼c½ 3&4&1&2 
¼d½ 4&3&2&1 

 
53. The scientific view is that the 

increase in global temperature should 
not exceed 2 C above pre-industrial 
level. If the globle temperature 
increases beyond 3 C above the pre-
industrial level, what can be its 
possible impact/ impacts on the 
world? 
1. Terrestrial biosphere tends 

toward a net carbon source. 
2. Widespread coral mortality 

will occur. 
3. All the globle wetlands will 

permanently disappear. 

4. Cultivation of cereals will not 
be possible anywhere in the 
world. 

Select the correct answer using the 
code given below. 

(a) 1 only 
(b) 1 and 2 only 
(c) 2, 3, and 4 only 
(d) 1, 2, 3 and 4 

54. The national motto of India, 
‘Satyameva Jayate’ inscribed below 
the Emblem of India is taken from 
(a) Katha Upanishad 
(b) Chandagya Upanishad 
(c) Aitareya Upanishad 
(d) Mundaka Upanishad 

55. In the Consitution of India, 
promotion of international peace and 
security is included in the 
(a) Preamble to the Constitution 
(b) Directive Principles of State 

Policy 
(c) Fundamental Duties 
(d) Ninth Schedule 

56. What are the benefits of 
implementing the ‘Integrated 
Watershed Development 
Programme’? 

 1. Prevention of soil runoff 
2. Linking the country’s 

perennial rivers with seasonal 
rivers 

3. Rainwater harvesting and 
recharge of groundwater 
table 

4. Regeneration of natural 
vegetation 

Select the correct answer using the 
code given below. 
 
(a) 1 and 2 only 
(b) 2, 3 and 4 only 
(c) 1, 3 and 4 only 
(d) 1, 2, 3 and 4 

 
53- oSKkfud n`f"Vdks.k ;g gS fd fo’o rkieku 

iwoZ&vkS|ksfxd Lrj ls 2 C ls vf/kd ugha 
c<+uk pkfg,A ;fn fo’o rkieku 
iwoZ&vkS|ksfxd Lrj ls 3 C ds ijs c<++ tkrk 
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gS] rks fo’o ij mldk lEHkkfor vlj D;k 
gksxk \ 
1- LFkyh; thoe.My ,d usV dkcZu 

lzksr dh vksj izo`Ÿk gksxkA 
2- foLr`r izoky eR;Zrk ?kfVr gksxhA 
3- lHkh Hkwe.Myh; vknzZHkwfe LFkk;h :Ik 

ls yqIr gks tk,¡xhA 
4- vuktksa dh [ksrh fo’o esa dgha Hkh 

lEHko ugha gksxhA 
uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 
pqfu,A 
¼a½ dsoy 1  
¼b½ dsoy 1 vkSj 2 
¼c½ dsoy 2] 3 vkSj 4 
¼d½ 1] 2] 3 vkSj 4 

 
54- Hkkjr ds lEizrhd ds uhps mRdh.kZ Hkkjr dh 

jk"Vªh; vkn’kksZafä ^lR;eso t;rs^ dgk¡ ls yh 
xbZ gS\  

 ¼a½ dB mifu"kn~ 
¼b½ NkanksX; mifu"kn~ 
¼c½ ,srjs; mifu"kn~ 
¼d½ eqaMd mifu"kn~ 

 
55- Hkkjr ds lafo/kku esa vUrjkZ"Vªh; 'kkfUr vkSj 

lqj{kk dh vfHko`f) dk dgk¡ mYys[k gS\ 
 ¼a½ lafo/kku dh mísf’kdk esa 

¼b½ jkT; dh uhfr ds funs’kd rŸoksa esa  
¼c½ ewy drZO;ksa esa  
¼d½ ukSoha vuqlwph esa 

56- ^,dhd`r tylEHkj fodkl dk;ZØe^ dks 
dk;kZfUor djus ds D;k ykHk gSa\ 

 1- e`nk ds cg tkus dh jksdFkke 
2- ns’k dh ckjgeklh ufn;ksa dks ekSleh 

ufn;ksa ls tksM+uk 
3- o"kkZ&ty laxzg.k rFkk HkkSe&tyLrj 

dk iquHkZj.k 
4- izkd`frd ouLifr;ksa dk iqutZuu 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj pqfu,A 
¼a½ dsoy 1 vkSj 2 
¼b½ dsoy 2] 3 vkSj 4 
¼c½ dsoy 1] 3 vkSj 4 
¼d½ 1] 2] 3 vkSj 4 

 
 
 
 
57. Which of the following are 

associated with ‘Planning’ in India? 
 1. The Finance Commission 
 2. The National Development  

Council 

3. The Union Ministry of Rural 
Development 

4. The Union Ministry of Urban 
Development 

5. The Parliament 
Select the correct answer using the code 
given below. 

(a) 1, 2 and 5 only 
(b) 1, 3 and 4 only 
(c) 2 and 5 only 
(d) 1, 2, 3, 4 and 5 

58. Which of the following is/are the 
function/functions of the Cabinet 
Secretariat? 

1. Preparation of agenda for Cabinet 
Meetings 

2. Secretarial assistance to Cabinet 
Committees 

3. Allocation of financial resources to 
the Ministries 

Select the correct answer using the code 
given below. 

(a) 1 only 
(b) 2 and 3 only 
(c) 1 and 2 only 
(d) 1, 2 and 3 

 
59. Consider the following statements : 

A Constitutional Government is one 
which  
1. places effective restrictions 

on individual liberty in the 
interest of State Authority 

2. places effective restrictions 
on the Authority of the State 
in the interest of individual 
liberty 

Which of the statements given above 
is/ are correct? 

(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) Neither 1 nor 2 

 
 
 
 
60. Which of the following are the 

discretionaty power given to the 
Governor of a State?  
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1. Sending a report to the 

President of India for 
imposing the President’s rule  

2. Appointing the Ministers 
3. Reserving certain bills passed 

by the State Legislature for 
consideration of the President 
of India 

4. Making the rules to conduct 
the business of the State 
Government 

 Select the correct answer using the 
code given below. 
(a) 1 and 2 only 
(b) 1 and 3 only 
(c) 2, 3 and 4 only 
(d) 1, 2, 3 and 4 

 
57- fuEufyf[kr esa ls dkSu&ls Hkkjr esa ^;kstuk^ ls 

lEc) gSa\ 
 1- foŸk vk;ksx 

2- jk"Vªh; fodkl ifj"kn~ 
3- la?kh; xzkeh.k fodkl ea=ky; 
4- la?kh; 'kgjh fodkl ea=ky; 
5- laln 
uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 
pqfu,A 

¼a½ dsoy 1] 2 vkSj 5 
b½ dsoy 1] 3 vkSj 4 
¼c½ dsoy 2 vkSj 5 
¼d½ 1] 2] 3] 4 vkSj 5 

58- fuEufyf[kr esa ls dkSu&lk@ls eaf=e.My 
lfpoky; dk@ds dk;Z gS@gSa\ 
1- eaf=e.My cSBdksa ds fy, dk;Zlwph 

rS;kj djuk 
2- eaf=e.My lfefr;ksa ds fy, 

lfpoky;h lgk;rk 
3- ea=ky;ksa dks foŸkh; lalk/kuksa dk 

vkcaVu  
uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 
pqfu,A 
¼a½ dsoy 1 
¼b½ dsoy 2 vkSj 3 
¼c½ dsoy 1 vkSj 2 
¼d½ 1] 2 vkSj 3 

 
59- fuEufyf[kr dFkuksa ij fopkj dhft, % 
 laoS/kkfud ljdkj og gS 

1- tks jkT; dh lŸkk ds fgr esa O;fä 
dh Lora=rk ij izHkkodkjh izfrcU/k 
yxkrh gS 

 

 
2- tks O;fä dh Lora=rk ds fgr esa 

jkT; dh lŸkk ij izHkkodkjh izfrcU/k 
yxkrh gS 

mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 
¼a½ dsoy 1 
¼b½ dsoy 2 
¼c½ 1 vkSj 2 nksuksa  
¼d½ u rks 1 vkSj u gh 2  

60- fuEufyf[kr esa ls dkSu&lh fdlh jkT; ds 
jkT;iky dks nh xbZ foosdk/khu 'kfä;k¡ gSa\‘ 
1- Hkkjr ds jk"Vªifr dks] jk"Vªifr 'kklu 

vf/kjksfir djus ds fy, fjiksVZ Hkstuk 
2- eaf=;ksa dh fu;qfä djuk 
3- jkT; fo/kkue.My }kjk ikfjr 

dfri; fo/ks;dksa dks] Hkkjr ds 
jk"Vªifr ds fopkj ds fy, vkjf{kr 
djuk 

4- jkT; ljdkj ds dk;Z lapkyu ds 
fy, fu;e cukuk 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 
pqfu,A 
 ¼a½ dsoy 1 vkSj 2 

¼b½ dsoy 1 vkSj 3 
¼c½ dsoy 2] 3 vkSj 4 
¼d½ 1] 2] 3 vkSj 4 

 
61. If the interest rate is decreased in an 

economy, it will 
(a) decrease the consumption 

expenditure in the economy 
(b) increase the tax collection of 

the Government 
(c) increase the investment 

expenditure in the economy 
(d) increase the total savings in 

the economy 
62. Consider the following statements : 

1. The President shall make 
rules for the more convenient 
transaction of the business of 
the Government of India, and 
for the allocation among 
Ministers of the said 
business. 

2. All executive actions of the 
Government of India shall be 
expressed to be taken in the 
name of the Prime Minister. 

Which of the statements given above 
is/are correct? 
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(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) Neither 1 nor 2 

63. Consider the following Statements 
regarding a No-Confidence Motion 
in India :  
1. There is no mention of a No-

Confidence Motion in the 
Constitution of India. 

2. A Motion of No-Confidence 
can be inrtroduced in the Lok 
Sabha only. 

Which of the statements given above 
is/are correct? 
(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) Neither 1 nor 2 

 
64. With reference to Neem tree, 

consider the following statements: 
1. Neem oil can be used as a 

pesticide to control the 
proliferation of some species 
of insects and mites. 

2. Neem seeds are used in the 
manufacture of biofuels and 
hospital detergents. 

3. Neem oil has applications in 
pharmaceutical industry. 

Which of the statements given above 
is/are correct? 
(a) 1 and 2 only 
(b) 3 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 

 
65. Which one of the following is the 

process involved in photosynthesis? 
(a) Protential energy is released 

to form free energy 
(b) Free energy is converted into 

potential energy and stored 
(c) Food is oxidized to release 

carbon dioxide and water. 
(d) Oxygen is taken, and carbon 

dioxide and water vapour are 
given out 

 

61- fdlh vFkZO;oLFkk esa ;fn C;kt dh nj dks 
?kVk;k tkrk gS] rks og  

 ¼a½ vFkZO;oLFkk esa miHkksx O;; ?kVk,xk 
¼b½ ljdkj ds dj&laxzg dks c<+k,xk 
¼c½ vFkZO;oLFkk esa fuos’k O;; dks c<+k,xk 
¼d½ vFkZO;oLFkk esa dqy cpr dks c<+k,xk 

 
 
62- fuEufyf[kr dFkuksa ij fopkj dhft, % 
1- jk"Vªifr] Hkkjr ljdkj dk dk;Z vf/kd 

lqfo/kkiwoZd fd, tkus ds fy, vkSj eaf=;ksa esa 
mä dk;Z ds vkcaVu ds fy, fu;e cuk,xkA 

2- Hkkjr ljdkj dh leLr dk;Zikyd dkjZokb;k¡ 
iz/kkuea=h ds uke ls dh gqbZ dgh tk,¡xhA 

 
mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

¼a½ dsoy 1 
¼b½ dsoy 2 
¼c½ 1 vkSj 2 nksuksa 
¼d½ u rks 1 vkSj u gh 2 

 
63- Hkkjr esa vfo’okl izLrko ds fo"k; esa 

fuEufyf[kr dFkuksa ij fopkj dhft, %  
1- Hkkjr ds lafo/kku esa fdlh vfo’okl 

izLrko dk dksbZ mYys[k ugha gSA 
2- vfo’okl izLrko dsoy yksdlHkk esa 

gh iqj% LFkkfir fd;k tk ldrk gSA 
mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

¼a½ dsoy 1 
¼b½ dsoy 2 
¼c½ 1 vkSj 2 nksuksa 
¼d½ u rks 1 vkSj u gh 2 

64- uhe ds isM+ ds lUnHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft, % 
1- dqN tkfr ds dhVksa vkSj c#fFk;ksa ds 

izpqjksöou dks fu;af=r djus ds fy, 
uhe ds rsy dk iz;ksx dhVuk’kd ds 
:Ik esa fd;k tk ldrk gSA 

2- uhe ds chtksa dk iz;ksx tSo&bZa/ku 
vkSj vLirky viektZdksa dk fuekZ.k 
djus esa gksrk gSA 

3- uhe ds rsy dk vuqiz;ksx vkS"kf/k 
m|ksx esa gksrk gSA 

mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 
¼a½ dsoy 1 vkSj 2 
¼b½ dsoy 3 
¼c½ dsoy 1 vkSj 3 
¼d½ 1] 2 vkSj 3 

 
65- fuEufyf[kr esa ls dkSu&lk ,d izØe 

izdk’k&la’ys"k.k esa lfEefyr gS\ 
¼a½ fLFkfrt ÅtkZ eqä gksdj izkI;re 

ÅtkZ curh gS 
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¼b½ izkI;re ÅtkZ] fLFkfrt ÅtkZ esa 

ifjofrZr gksrh gS vkSj lafpr gks 
tkrh gS 

¼c½ Hkkstu vkWDlhd`r gksdj dkcZu 
MkbvkWDlkbM vkSj ty eqä djrk gS 

¼d½ vkWDlhtu yh tkrh gS rFkk dkcZu 
MkbvkWDlkbM vkSj tyok"Ik ckgj 
fudyrs gSa 

 
 
 
66. In addition to fingerprint 

scanning,which of the following can 
be used in the biometric 
identification of a person? 

 1. Iris scanning 
2. Retinal scanning 
3. Voice recognition 
Select the correct answer using the 
code given below. 
(a) 1 only 
(b) 2 and 3 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 

 
67. Which of the following statements 

is/are correct regarding vegetative 
propagation of plants?  
1. Vegetative propagation 

produces clonal population. 
2. Vegetative propagation helps 

in eliminating the virus. 
3. Vegetative propagation can 

be practiced most of the year. 
Select the correct answer using the 
code given below. 
(a) 1 only 
(b) 2 and 3 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 

 
68. Which of the following pairs is/are 

correctly matched?  
Spacecraft  Purpose 

1. Cassini-Huygens : Orbiting the     
                                                Venus and 
                                                transmitting 
                                                data to the 
                                                Earth 
2. Messenger : Mapping and  
                                                investigating 

                                                the Mercury 
3. Voyager 1 and 2  : Exploring the 
                                                outer solar 
                                                system 
Select the correct answer using the code 
given below. 

(a)   1 only 
(b)   2 and 3 only 
(c)   1 and 3 only 
(d)   1, 2 and 3 

 
 
 
 
69. Consider the following pairs : 

Region  Well-known for 
the production of 

1. Kinnaur  : Areca nut 
2. Mewat  : Mango 
3. Coromandel : Soya bean 
Which of the above pairs is/are 
correctly matched ? 
(a) 1 and 2 only 
(b) 3 only 
(c) 1, 2 and 3 
(d) None 

 
66- fdlh O;fDr ds thoferh; igpku gsrq] 

vaxqyh&Nki Øeoh{k.k ds vykok] fuEufyf[kr 
esa ls dkSu&lk@ls iz;ksx esa yk;k tk ldrk 
gS@yk, tk ldrs gSa \ 

 1- ifjrkfjdk Øeoh{k.k 
2- n`f"ViVy Øeoh{k.k 
3- okd~ vfHkKku 
uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 
pqfu,A 
¼a½ dsoy 1 
¼b½ dsoy 2 vkSj 3 
¼c½ dsoy 1 vkSj 3 
¼d½ 1] 2 vkSj 3 

67- fuEufyf[kr esa ls dkSu&lk@ls dFku ikS/kksa ds 
dkf;d izo/kZu ds lEcU/k esa lgh gS@gSa\ 

1- dkf;d izo/kZu Dyksuh; tula[;k dks mRié 
djrk gSA 

2- dkf;d izzo/kZu fo"kk.kqvksa dk fu"izHkkou djus esa 
lgk;d gSA 

3- dkf;d izo/kZu o"kZ ds vf/kdrj Hkkx esa py 
ldrk gSA 
uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 
pqfu,A 
¼a½ dsoy 1 
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¼b½ dsoy 2 vkSj 3 
¼c½ dsoy 1 vkSj 3 
¼d½ 1] 2 vkSj 3 

68- fuEufyf[kr ;qXeksa esa ls dkSu&lk@ls lgh 
lqesfyr gS@gSa\ 
   vUrfj{k ;ku     iz;kstu 

1- dSfluh&gkbxsUl     % 'kqØ dh ifjØek 
djuk vkSj nŸk dk 
i`Foh rd lapkj.k 
djuk 

2- eslsatj      % cq/k dk ekufp=.k 
vkSj vUos"k.k 

3- okW;stj 1 vkSj 2      % cká lkSj ifjokj    
                                dk vUos"k.k 
uhps fn, x, dwV dk iz;ksx dj lgh mŸkj pqfu,A 
¼a½ dsoy 1 
¼b½ dsoy 2 vkSj 3 
¼c½ dsoy 1 vkSj 3 
¼d½ 1] 2 vkSj 3 
69- fuEufyf[kr ;qXeksa ij fopkj dhft, % 

{ks=  fdlds mRiknu ds 
fy, tkuk tkrk gS 

 1- fdékSj     %   lqikjh 
2- esokr      %   vke 
3- dksjkse.My  %  lks;kchu 
 
mi;qZä esa ls dkSu&lk@ls ;qXe lgh lqesfyr 
gS@gSa\ 
¼a½ dsoy 1 vkSj 2 
¼b½ dsoy 3 
¼c½ 1] 2 vkSj 3 
¼d½ dksbZ ugha  

 
70. Which of the following is/are the 

example/examples of chemical 
change ? 
1. Crystallization of sodium 

chloride 
2. Melting of ice  
3. Souring of milk 
Select the correct answer using the 
code given below. 
(a) 1 and 2 only 
(b) 3 only 
(c) 1, 2 and 3 
(d) None 

 
71. The power of the Supreme Court of 

India to decide disputes between the 
Centre and the States falls under its  
(a) advisory jurisdiction 
(b) appellate jurisdiction 

(c) original jurisdiction 
(d) writ jurisdiction 

 
72. Consider the following 

techniques/phenomena :  
1. Budding and grafting in fruit 

plants 
2. Cytoplasmic male sterility 
3. Gene silencing 
 
Which of the above is/are used to 
create transgenic crops? 
(a) 1 only 
(b) 2 and 3 
(c) 1 and 3 
(d) None 

 
73. Consider the following statements : 
1. Maize can be used for the production 

of starch. 
2. Oil extracted from maize can be a 

feedstock for biodiesel. 
3. Alcoholic beverages can be produced 

by using maize. 
Which of the statements given above is/are 
correct? 

(a) 1 only 
(b) 1 and 2 only 
(c) 2 and 3 only 
(d) 1, 2 and 3 

 
74. Among the following organisms, 

which one does not belong to the 
class of other three? 

 (a) Crab 
(b) Mite 
(c) Scorpion 
(d) Spider 

 
75. The power to increase the number of 

judges in the Supreme Court of India 
is vested in 
(a) the president of india 
(b) the parliament 
(c) the Chief Justice of India 
(d) the Law Commission  

 
70- fuEufyf[kr esa ls dkSu&lk@ls jklk;fud 

ifjorZu dk@ds mnkgj.k gS@gSa\ 
 1- lksfM;e DyksjkbM dk fØLVyu 
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2- cQZ dk xyu 
3- nqX/k vkLdanu 
uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 
pqfu,A 
¼a½ dsoy 1 vkSj 2 
¼b½ dsoy 3 
¼c½ 1] 2 vkSj 3 
¼d½ dksbZ ugha 

 
71- dsUnz vkSj jkT;ksa ds chp gksus okys fooknksa dk 

fu.kZ; djus dh Hkkjr ds mPPkre U;k;ky; 
dh 'kfä fdlds vUrxZr vkrh gS\ 

 ¼a½ ijke’khZ vf/kdkfjrk ds vUrxZr 
¼b½ vihyh vf/kdkfjrk ds vUrxZr 
¼c½ ewy vf/kdkfjrk ds vUrxZr 
¼d½ fjV vf/kdkfjrk ds vUrxZr 

 
72- fuEufyf[kr rduhdksa@ifj?kVukvksa ij fopkj 

dhft, % 
1- Qy okys ikniksa esa eqdqyu vkSj 

jksi.k 
2- dksf’kdknzO;h uj cU/;rk 
3- thu uhjork 

 
 
mi;qZä esa ls dkSu&lk@ls Vªkaltsfud Qlyksa dks cukus 
esa iz;qä gksrk gS@gksrs gSa\ 

¼a½ dsoy 1 
¼b½ 2 vkSj 3 
¼c½ 1 vkSj 3 
¼d½ dksbZ ugha 

 
73- fuEufyf[kr dFkuksa ij fopkj dhft, % 

1- eDdk dk e.M ds mRiknu ds fy, 
iz;ksx fd;k tk ldrk gSA  

2- eDdk ls fu"df"kZr rsy tSo&Mhty 
ds fy, QhMLVkWd gks ldrk gSA 

3- eDdk ds iz;ksx ls ,YdksgWyh is; 
mRié fd;k tk ldrk gSSA 

mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 
¼a½ dsoy 1 
¼b½ dsoy 1 vkSj 2 
¼c½ dsoy 2 vkSj 3 
¼d½ 1] 2 vkSj 3 

 
74- fuEufyf[kr esa ls dkSu&lk ,d tho] vU; 

rhu thoksa ds oxZ dk ugha gS\ 
 ¼a½ dsdM+k 

¼b½ c#Fkh 
¼c½ fcPNw 
¼d½ edM+h 

 

75- Hkkjr ds mPpre U;k;ky; esa U;k;k/kh’kksa dh 
la[;k esa o`f) djus dh 'kfä fdlesa fufgr 
gS\ 
¼a½ Hkkjr dk jk"Vªifr 
¼b½ laln 
¼c½ Hkkjr dk eq[; U;k;ewfrZ 
¼d½ fof/k vk;ksx 

 
76. Consider the following towns of 

India : 
 1. Bhadrachalam 

2. Chanderi 
3. Kancheepuram 
4. Karnal 
Which of the above are famous for 
the production of traditional 
sarees/fabric? 

(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 1, 2 and 3 
(d) 1, 3 and 4 

77. Consider the following pairs : 
National Cities connected 
Highway 

1. NH 4  :  Chennai and  
   Hyderabad 

2. NH 6  :  Mumbai and  
   Kolkata 

3. NH 15  :  Ahmedabad and 
   Jodhpur 

Which of the above pairs is/ are 
correctly matched? 
(a) 1 and 2 only 
(b) 3 only 
(c) 1, 2 and 3 
(d) None 

 
78. Consider the following International 

agreements : 
1. The International Treaty on 

plant Genetic Resources for 
Food and Agricilture 

2. The United Nations 
Convention to Combat 
Desertification 

3. The world Heritage 
Convention 

Which of the above has/have a 
bearing on the biodiversity? 

(a) 1 and 2 only 
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(b) 3 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 

 
79. Consider the following statements 

regarding ‘Earth Hour’ 
1. It is an initiative of 

UNEP and UNESCO. 
2. It is a movement in 

which the participants 
switch off the lights 
for one hour on a 
certain day every 
year. 

3. It is a movement to 
raise the awareness 
about the climate 
change and the need 
to save the planet. 

Which of the statements given above 
is/are correct? 

(a) 1 and 3 only 
(b) 2 only 
(c) 2 and 3 only 
(d) 1, 2 and 3 

 
80. Which one of the following is the 

correct sequence of a food chain? 
(a) Diatoms-Crustaceans-

Herrings 
(b) Crustaceans-Diatoms-

Herrings 
(c) Diatoms-Herrings-

Crustaceans 
(d) Crustaceans-Herrings-

Diatoms 
 
76- Hkkjr ds fuEufyf[kr uxjksa ij fopkj dhft,% 
 1- Hknzkpye 

2- pansjh 
3- dkaphiqje 
4- djuky 
mi;qZä esa ls dkSu&dkSu ls ikjEifjd 
lkM+h@oL= mRiknu ds fy, lq[;kr gSa\ 

¼a½ dsoy 1 vkSj 2 
¼b½ dsoy 2 vkSj 3 
¼c½ 1] 2 vkSj 3 
¼d½ 1] 3 vkSj 4 

77- fuEufyf[kr ;qXeksa ij fopkj dhft, % 
jk"Vªh; jktekxZ  blls tqM+s 'kgj 
1- NH 4  :     psébZ vkSj gSnjkckn 

2- NH 6  :     eqEcbZ vkSj dksydkrk 
3- NH 15  :     vgenkckn vkSj tks/kiqj 
mi;qZä esa ls dkSu&lk@ls ;qXe lgh lqesfyr 
gS@gSa\ 

¼a½ dsoy 1 vkSj 2 
¼b½ dsoy 3 
¼c½ 1] 2 vkSj 3 
¼d½ dksbZ ugha 

78- fuEufyf[kr vUrjkZ"Vªh; djkjksa ij fopkj 
dhft, % 
1- [kk| ,oa d`f"k gsrq ikni vkuqoaf’kd 

lalk/kuksa ds fo"k; esa vUrjkZf"Vª; laf/k 
2- e#Hkou dk lkeuk djus gsrq la;qä 

jk"Vª vfHkle; 
3- fo’o fojklr vfHkle; 

 
mi;qZä esa ls dkSu&lk@ls tSo&fofo/krk ls 
lEcU/k j[krk gS@j[krs gSa\ 

¼a½ dsoy 1 vkSj 2 
¼b½ dsoy 3 
¼c½ dsoy 1 vkSj 3 
¼d½ 1] 2 vkSj 3 

79- ^i`Foh dky^ ds lUnHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft, % 
1- ;g UNEP rFkk UNESCO dk 

miØe.k gSA 
2- ;g ,d vkUnksyu gS] ftlesa izfrHkkxh 

izfro"kZ ,d fuf’pr fnu] ,d ?k.Vs 
ds fy, fctyh cUn dj nsrs gSaA 

3- ;g tyok;q ifjorZu vkSj i`Foh dks 
cpkus dh vko’;drk ds ckjs esa 
tkx:drk ykus okyk vkUnksyu gSA 

mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 
¼a½ dsoy 1 vkSj 3 
¼b½ dsoy 2 
¼c½ dsoy 2 vkSj 3 
¼d½ 1] 2 vkSj 3 

80- fuEufyf[kr esa ls dkSu&lk ,d vkgkj Jà[krk 
dk lgh Øe gS \ 

 ¼a½ Mk;Ve&ØLVsf’k;kbZ&gsfjax 
¼b½ ØLVsf’k;kbZ&Mk;Ve&gsfjax 
¼c½ Mk;Ve&gsfjax&ØLVsf’k;kbZ 
¼d½ ØLVsf’k;kbZ&gsfjax&Mk;Ve 

 
81. The Partition of Bengal made by 

Lord Curzon in 1905 lasted until 
(a) the First World War when 

Indian troops were needed by 
the British and the partition 
was ended 
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(b) King George V abrogated 

Curzon’s Act at the Royal 
Durdar in Delhi in 1911 

(c) Gandhiji launched his Civil 
Disobedience Movement 

(d) the Partition of India in 1947 
when East Bengal became 
East Pakistan 

82. The 1929 Session of Indian National 
Congress is of significance in the 
history of the Freesdom Movement 
because the 
(a) attainment of Self-

Government was declared as 
the objective of the Congress 

(b) attainment of Poorna Swaraj 
was adopted as the goal of 
the Congress 

(c) Non-Cooperation Movement 
was launched 

(d) decision to participate in the 
Round Table Conference in 
London was taken 

83. With reference to the famous 
Sattriya dance, consoder the 
following statements : 
1. Sattriya is a combination of 

music, dance and drama. 
2. It is a centuries-old living 

tradition of Vaishnavites of 
Assam. 

3. It is based on classical Ragas 
and Talas of devotional songs 
composed by Tulsidas, Kabir 
and Mirabai. 

Which of the statements given above 
is/are correct ? 

(a) 1 only 
(b) 1 and 2 only 
(c) 2 and 3 only 
(d) 1, 2 and 3 

84. Chaitra 1 of the national calendar 
based on the Saka Era corresponds to 
which one of the following dates of 
the Gregorian calendar in a normal 
year of 365 days ? 
(a) 22nd March (or 21st March) 
(b) 15th May (or 16th May) 
(c) 31st March (or 30th March) 
(d) 21st April (or 20th April) 

 
81- 1905 esa ykWMZ dt+Zu }kjk fd;k x;k caxky dk 

foHkktu dc rd cuk jgk\ 
¼a½ izFke fo’o;q) rd] ftlesa vaxzstksa 

dks Hkkjrh; lSfudksa dh vko’;drk 
iM+h vkSj foHkktu lekIr fd;k x;k 

¼b½ lezkV tkWtZ iape }kjk fnYyh esa 
1911 ds 'kkgh njckj esa dtZu ds 
vf/kfu;e dks fujkd`r fd;s tkus rd  

¼c½ egkRek xk¡/kh }kjk viuk lfou; 
voKk vkUnksyu vkjEHk djus rd  

¼d½ Hkkjr ds 1947 esa gq, foHkktu rd] 
tc iwohZ caxky] iwohZ ikfdLrku cu 
x;k 

82- Lora=rk vkUnksyu ds bfrgkl esa Hkkjrh; 
jk"Vªh; dk¡xzsl dk 1929 dk vf/kos’ku blfy, 
egŸoiw.kZ gS] D;ksafd bl vf/kos’ku esa 
¼a½ dk¡xzsl ds mís’; ds rkSj ij 

Lo&’kklu izkfIr dh ?kks"k.kk dh xbZ 
¼b½ dk¡xzsl ds y{; ds rkSj ij iw.kZ 

Lojkt izkfIr dks Lohd`r fd;k x;k 
¼c½ vlg;ksx vkUnksyu dk vkjEHk gqvk 
¼d½ yUnu esa xksy est+ lEesyu esa 

Hkkxhnkjh djus dk fu.kZ; fy;k x;k 
 
83- fo[;kr l=h;k u`R; ds lUnHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft, % 
1- l=h;k] laxhr] u`R; rFkk vfHku; dk 

lfEeJ.k gSA 
2- ;g vle ds oS".koksa dh 'krkfCn;ksa 

iqjkuh thoUr ijEijk gSA 
3- ;g rqylhnkl] dchj vkSj ehjkckbZ 

}kjk jfpr Hkfä&xhrksa ds 'kkL=h; 
jkxksa rFkk rkyksa ij vk/kkfjr gSA 

mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 
  
¼a½ dsoy 1 
¼b½ dsoy 1 vkSj 2 
¼c½ dsoy 2 vkSj 3 
¼d½ 1] 2 vkSj 3 

 
84- 'kd laor~ ij vk/kkfjr jk"Vªh; iapkax 

¼dSysUMj½ dk 1 pS=] fxzxfj;u dSysUMj ij 
vk/kkfjr 365 fnu ds lkekU; o"kZ dh 
fuEufyf[kr frfFk;ksa esa ls fdl ,d ds 
rnuq:Ik gS \ 

  ¼a½ 22 ekpZ ¼vFkok 21 ekpZ½ 
¼b½ 15 ebZ ¼vFkok 16 ebZ½ 
¼c½ 31 ekpZ ¼vFkok 30 ekpZ½ 
¼d½ 21 vizSy ¼vFkok 20 vizSy½ 

 
87. With reference to India’s culture and 

tradition, what is ‘Kalaripayattu’? 
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(a) It is an ancient Bhakti cult of 

Shaivism still prevalent in 
some parts of South India 

(b) It is an ancient style bronze 
and brasswork still found in 
southem part of Coromandel 
area 

(c) It is ancient form of dance-
drama and a living tradition 
in the northern part of 
Malabar 

(d) It is an ancient martial art and 
a living tradition in some 
parts of South India 

88.  Consider the following pairs : 
1. Garba   : Gujarat 
2. Mohiniattam  : Odisha 
3. Yakshagana :      Karnataka 
Which of the pairs given above is/are 
correctly matched? 
(a) 1 only 
(b) 2 and 3 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 

 
85- Hkkjr dh dyk o laLd`fr ds bfrgkl ds 

lEcU/k esa fuEufyf[kr ;qXeksa ij fopkj dhft,% 
fo[;kr ewfrZf’kYi    LFky 

1- cq) ds egkifjfuokZ.k % vtUrk 
dh ,d HkO; izfrek 
ftlesa Åij dh vksj 
vusdksa nSoh laxhrK 
rFkk uhps dh vksj muds  
nq[kh vuq;k;h 
n’kkZ, x, gSa 

2- izLrj ij mRdh.kZ fo".kq % ekmaVvkcw 
ds ojkg vorkj dh  
fo’kky izfrek ftlesa 
og nsoh i`Foh dks  
xgjs fo{kqC/k lkxj ls  
mckjrs n’kkZ, x, gS 

3- fo’kky xksyk’eksa ij   %      ekeYyiqje 
mRdh.kZ ÞvtqZu dh  
riL;kß@Þxaxk&vorj.kß 

mi;qZä ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\ 
¼a½ dsoy 1 vkSj 2 
¼b½ dsoy 3 
¼c½ dsoy 1 vkSj 3 
¼d½ 1- 2 vkSj 3 

86- xnj D;k Fkk \ 

¼a½ Hkkjrh;ksa dk ,d ØkfUrdkjh la?k] 
ftldk iz/kku dk;kZy; lSu 
ÝakfLkLdks esa Fkk 

¼b½ ,d jk"Vªoknh laxBu] tks flaxkiqj ls 
lapkfyr gksrk Fkk 

¼c½ ,d mxzoknh laxBu] ftldk iz/kku 
dk;kZy; cfyZu esa Fkk 

¼d½ Hkkjr dh Lora=rk ds fy, ,d 
dE;qfuLV vkUnksyu] ftldk iz/kku 
dk;kZy; rk’kdUn esa FkkA 

87- Hkkjr dh laLd`fr ,oa ijEijk ds lUnHkZ esa 
^dykjhi;êŵ  D;k gS\ 
¼a½ ;g 'kSoer dk izkphu Hkfä iaFk gS 

tks vHkh Hkh nf{k.k Hkkjr ds dqN 
fgLlksa esa izpfyr gS 

¼b½ ;g dk¡ls vkSj ihry ds dke dh ,d 
izkphu 'kSyh gS tks vHkh Hkh 
dksjkse.My {ks= ds nf{k.kh fgLls esa 
ikbZ tkrh gSA 

¼c½ ;g u`R;&ukfVdk dk ,d izkphu :Ik 
gS vkSj ekykokj ds mŸkjh fgLls esa 
,d thoUr ijEijk gS 

¼d½ ;g ,d izkphu ek’kZy dyk gS vkSj 
nf{k.k Hkkjr ds dqN fgLlksa esa thoUr 
ijEijk gS 

88- fuEufyf[kr ;qXeksa ij fopkj dhft, % 
1- xjck      % xqtjkr 
2- eksfguhvêe   % vksfM’kk 
3- ;{kxku     % dukZVd 
mi;qZä ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr 
gS@gSa\ 

¼a½ dsoy 1 
¼b½ dsoy 2 vkSj 3 
¼c½ dsoy 1 vkSj 3 
¼d½ 1] 2 vkSj 3 

 
89. With reference to Buddhist history, 

tradition and culture in India, 
consider the following pairs : 
Famous shrine      Location 

1. Tabo monastery        :    Spiti Valley 
and temple complex 

2. Lhotsava Lhakhang  :  ZanskarValley 
temple, Nako 

3. Alchi temple           : Ladakh 
complex 
Which of the pairs given above is/are 
correctly matched? 
(a) 1 only 
(b) 2 and 3 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 
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90. Consider the following statements : 

1. ‘Bijak’ is a composition of 
the teachings of Saint Dadu 
Dayal. 

2. The Philosophy of Pushti 
Marg was propounded by 
Madhvacharya. 

Which of the statements given above 
is/are correct? 
(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) Neither 1 nor 2 

 
91. A community of people called 

Manganiyars is well-known for their 
(a) martial arts in North-East 

India 
(b) musical tradition in North-

West India 
(c) classical vocal music in 

South India 
(d) pietra dura tradition in 

Central India 
92. What was/were the object/objects of 

Queen Victoria’s Proclamation 
(1858)? 
1. To disclaim any intention to 

annex Indian States 
2. To place the Indian 

administration under the 
British Crown 

3. To regulate East India 
Company’s trade with India 

Select the correct answer using the 
code given below. 

(a) 1 and 2 only 
(b) 2 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 

93. Ibasat Khana at Fatehpur Sikri was 
(a) the mosque for the use of 

Royal Family 
(b) Akbar’s private prayer 

chamber 
(c) the hall in which Akbar held 

discussions with scholars of 
various religions 

(d) the room in which the nobles 
belonging to different 
religions gathered to discuss 
religious affairs. 

 
 
89- Hkkjr esa ckS) bfrgkl] ijEijk vkSj laLd`fr ds 

lEcU/k esa fuEufyf[kr ;qXeksa ij fopkj dhft,% 
fo[;kr rhFkZLFky  voLFkku 
1- Vkcks eB vkSj efUnj   % Lihfr ?kkVh 
   ladqy 
2- YgksRlo yk[kkax efUnj % taLdkj ?kkVh 
   udks 
3- vYph efUnj ladqy    % yík[k 
mi;qZä ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr 
gS@gSa\ 
¼a½ dsoy 1 
¼b½ dsoy 2 vkSj 3 
¼c½ dsoy 1 vkSj 3 
¼d½ 1] 2 vkSj 3 

 
90- fuEufyf[kr dFkuksa ij fopkj dhft, % 

1- ^chtd^ lUr nknw n;ky ds mins’kksa 
dk ,d ladyu gSA 

2- iqf"V ekxZ ds n’kZu dks e/okpk;Z us 
izfrikfnr fd;kA 

mi;qZä dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 
¼a½ dsoy 1 
¼b½ dsoy 2 
¼c½ 1 vkSj 2 nksuksa 
¼d½ u rks 1 vkSj u gh 2 

91- eaxkfu;kj ds uke ls tkuk tkus okyk yksxksa 
dk leqnk; 
¼a½ iwoksZrj Hkkjr esas viuh ek’kZy dykvksa 

ds fy, fo[;kr gS 
¼b½ if’peksŸkj Hkkjr esas viuh laxhr 

ijEijk ds fy, fo[;kr gS 
¼c½ nf{k.k Hkkjr esa vius 'kkL=h; xk;u 

laxhr ds fy, fo[;kr gS 
¼d½ e/; Hkkjr esa iPphdkjh ijEijk ds 

fy, fo[;kr gS 
92- egkjkuh foDVksfj;k dh mn~?kks"k.kk ¼1858½ dk 

mís’; D;k Fkk \ 
1- Hkkjrh; jkT;ksa dks fczfV’k lkezkT; esa 

feykus ds fdlh Hkh fopkj dk 
ifjR;kx djuk 

2- Hkkjrh; iz’kklu dks fczfV’k Økmu ds 
vUrxZr j[kuk 

3- Hkkjr ds lkFk bZLV bfUM;k dEiuh 
ds O;kikj dk fu;eu djuk 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 
pqfu,A 

¼a½ dsoy 1 vkSj 2 
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¼b½ dsoy 2 
¼c½ dsoy 1 vkSj 3 
¼d½ 1] 2 vkSj 3 

 
 
 
 
 
 
 
93- Qrsgiqj lhdjh dk bcknr[kkuk D;k Fkk \ 

¼a½ jkt ifjokj ds bLrseky ds fy, 
efLtn 

¼b½ vdcj dk futh izkFkZuk d{k 
¼c½ og Hkou ftlesa fofHké /keksZa ds 

fo}kuksa ds lkFk vdcj ppkZ djrk 
Fkk 

¼d½ og dejk ftlesa fofHké /keZ okys 
dqyhutu /kkfeZd ckrksa ds fopkjkFkZ 
tek gksrs FksA 

 
94. In the context of food and nutritional 

security of India, enhancing the 
‘Seed Replacement Rates’ of various 
crops helps in achieving the food 
production targets of the future. But 
what is/are the constraint/ constraints 
in its wider/ greater Implementation? 

1. There is no National Seeds Policy in 
place. 

2. There is no participation of private 
sector seed companies in the supply 
of quality seeds of vegetables and 
planting materials of horticultural 
crops. 

3. There is a demand-supply gap 
regarding quality seeds in case of 
low value and high volume crops. 

Select the correct answer using the code 
given below. 

(a) 1 and 2 
(b) 3 only 
(c) 2 and 3 
(d) None 

 
95. With reference to ‘Eco-Sensitive 

Zones’, which of the following 
statements is/are correct? 
1. Eco-Sensitive Zones are the 

areas that are declared under 

the Wildlife (Protection) Act, 
1972. 

2. The purpose of the 
declaration of Eco-Sensitive 
Zones is to prohibit all kinds 
of human activities in those 
zones except agriculture. 

Select the correct answer using the 
code given below. 
(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) Neither 1 nor 2 

 
96. Consider the following statements : 

1. Animal Welfare Board of 
India is established ubder the 
Environments (Protection) 
Act, 1986.  

2. National Tiger Conservation 
Authorityis a statutory body. 

3. National Ganga River Basin 
Authority is chaired by the 
Prime Minister. 

Which if the statements given above 
is/are correct? 
(a) 1 only 
(b) 2 and 3 only 
(c) 2 only 
(d) 1, 2 and 3 

 
94- Hkkjr dh [kk| ,oa iks"k.k lqj{kk ds lUnHkZ esa 

fofHké Qlyksa dh ^cht izfrLFkkiu njksa^ dks 
c<+kus ls Hkfo"; ds [kk| mRiknu y{;ksa dks 
izkIr djus esa enn feyrh gSA fdUrq blds 
vis{kkd`r cM+s@foLr`r dk;kZUo;u esa D;k 
ck/;rk gSA ck/;rk,¡ gSa\ 
1- dksbZ Hkh jk"Vªh; cht uhfr ugha cuh 

gSA 
2- futh {ks= dh cht dEifu;ksa dh] 

m|ku&d`f"k Qlyksa dh jksi.k 
lkefxz;ksa vkSj lfCt;ksa ds xq.krk okys 
chtksa dh iwfrZ esa dksbZ lgHkkfxrk ugha 
gSA 

3- fuEu ewY; ,oa mPp ifjek.k okyh 
Qlyksa ds ekeys esa xq.krk okys chtksa 
ds ckjs esa ek¡x&iwfrZ vUrjky gSA 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 
pqfu,A 

¼a½ 1 vkSj 2 
¼b½ dsoy 3 
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¼c½ 2 vkSj 3 
¼d½ dksbZ ugha 

 
95- ^ikfjfLFkfrd&laosnh {ks=ksâ  ds lUnHkZ esa 

fuEufyf[kr esa ls dkSu&lk@ls dFku lgh 
gS@gSa \ 
1- ikfjfLFkfrd&laosnh {ks= os {ks= gS] 

ftUgsa oU;tho ¼laj{k.k½ vf/kfu;e] 
1972 ds v/khu ?kksf"kr fd;k x;k gSA 

2- ikfjfLFkfrd&laosnh {ks= dks ?kksf"kr 
djus dk iz;kstu gS] mu {ks=ksa esaa 
dsoy d`f"k dks NksM+dj lHkh ekuo 
fØ;kvksa ij izfrcU/k yxkukA 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 
pqfu,A 

¼a½ dsoy 1 
¼b½ dsoy 2 
¼c½ 1 vkSj 2 nksuksa 
¼d½ u rks 1 vkSj u gh 2 

96- fuEufyf[kr dFkuksa ij fopkj dhft, % 
1- Hkkjrh; Ik’kq dY;k.k cksMZ] Ik;kZoj.k ¼laj{k.k½ 

vf/kfu;e] 1986 ds v/khu LFkkfir gSA 
2- jk"Vªh; ck?k laj{k.k izkf/kdj.k ,d lkafof/kd 

fudk; gSA 
3- jk"Vªh; xaxk unh nzks.kh izkf/kdj.k dh v/;{krk 

iz/kkuea=h djrs gSA 
mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh 
gS@gSa\ 
¼a½ dsoy 1 
¼b½ dsoy 2 vkSj 3 
¼c½ dsoy 2 
¼d½ 1] 2 vkSj 3 

 
97. Consider the following pairs : 

Vitamin Deficiency disease 
1. Vitamin C   :   Scurvy 
2. Vitamin D   :  Rickets 
3. Vitamin E    :  Night blindness 
 

Which of the pairs given above is/are 
correctly matched? 
(a) 1 and 2 only 
(b) 3 only 
(c) 1, 2 and 3 
(d) None 

 
98. There is some concern regarding the 

nanoparticles of some chemical 
elements that are used by the 
industry in the manufacture of 
various products. Why? 

1. They can accumulate in the 
environment, and 
contaminate water and soil. 

2. They can enter the food 
chains. 

3. They can trigger the 
production of free radicals. 

Select the correct answer using the 
code given below. 

(a) 1 and 2 only 
(b) 3 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 

99. Which of the following organizations 
brings out the publication known 
as’World Economic Outlook’? 
(a) The International Monetary 

Fund 
(b) The United Nations 

Development Programme 
(c) The World Economic Forum 
(d) The World Bank 

100. With reference to Union Budget, 
which of the following is/are covered 
under Non-Plan expenditure? 

 1. Defence expenditure 
2. Interest payments 
3. Salaries and pensions 
4. Subsidies 
Select the correct answer using the 
code given below. 
(a) 1 only 
(b) 2 and 3 only 
(c) 1, 2, 3 and 4 
(d) None 

  
97- fuEufyf[kr ;qXeksa ij fopkj dhft, % 
 

foVkfeu  bldh ghurk ls 
gksus okyk jksx 

1- foVkfeu C :       LdohZ 
2- foVkfeu D :       fjdsV~l 
3- foVkfeu E :       jkf= va/krk 

 
mi;qZä esa ls dkSu&lk@ls ;qXe lgh lqesfyr 
gS@gSa\ 
¼a½ dsoy 1 vkSj 2 
¼b½ dsoy 3 
¼c½ 1] 2 vkSj 3 
¼d½ dksbZ ugha 
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98- fofHké mRiknksa ds fofuekZ.k esa m|ksx }kjk 

iz;qä gksus okys dqN jklk;fud rŸoksa ds 
uSuks&d.kksa ds ckjs esa dqN fpUrk gSA D;ksa \  
1- os Ik;kZoj.k esa lafpr gks ldrs gSa 

rFkk ty vkSj e`nk dks lanwf"kr dj 
ldrs gSaA 

2- os [kk| Jà[kykvksa esa izfo"V gks ldrs 
gSaA 

3- os eqä ewydksa ds mRiknu dks 
foeksfpr dj ldrs gSaa 

uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 
pqfu,A 
¼a½ dsoy 1 vkSj 2 
¼b½ dsoy 3 
¼c½ dsoy 1 vkSj 3 
¼d½ 1] 2 vkSj 3 

 
99- fuEufyf[kr esa ls dkSu&lk laxBu ^oYMZ 

bdksukWfed vkÅVyqd^ uked izdk’ku 
izdkf’kr djrk gSa\ 

 ¼a½ vUrjkZ"Vªh; eqnzk dks"k 
¼b½ la;qä jk"Vª fodkl dk;ZØe 
¼c½ fo’o vkfFkZd Qksje 
¼d½ fo’o cSad 

 
 
100- la?k ds ctV ds lUnHkZ esa fuEufyf[kr esa ls 

dkSu&lk@ls xSj&;kstuk O;; ds v/khu vkrk 
gS@vkrs gSa\ 

 1- j{kk O;; 
2- C;kt vnk;xh 
3- osru ,oa isa’ku 
4- minku 
 
uhps fn, x, dwV dk iz;ksx dj lgh mŸkj 
pqfu,A 
¼a½ dsoy 1 
¼b½ dsoy 2 vkSj 3 
¼c½ 1] 2] 3 vkSj 4 
¼d½ dksbZ ugha 
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tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa 
 
Vh-ch-lh- % B-FVS-N-IVUA             ijh{k.k iqfLrdk vuqØe 
Øe la[;k 
 

ijh{k.k iqfLrdk 
lkekU; v/;;u 
iz’u&i=&&I 

 
le; % nks ?k.Vs            iw.kkZad % 200 
 

v uq ns ’k 
1- ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo’; dj ysa fd blesa dksbZ fcuk Nik] 

QVk ;k NwVk gqvk i`"B vFkok iz’uka’k vkfn u gksA ;fn ,slk gS] rks bls lgh ijh{k.k iqfLrdk ls cny ysaA 
2- d`Ik;k /;ku j[ksa fd OMR  mŸkj&i=d esa] mfpr LFkku ij] jksy uEcj vkSj ijh{k.k iqfLrdk vuqØe A, B, C 

;k D dks] /;ku ls ,oa fcuk fdlh pwd ;lk folaxfr ds Hkjus vkSj dwVc) djus dh ftEesnkjh mEehnokj dh 
gSA fdlh Hkh izdkj dh pwd@folaxfr dh fLFkfr esa mŸkj&i=d fujLr dj fn;k tk,xkA 

3- bl ijh{k.k iqfLrdk ij lkFk esa fn, x, dks"Bd esa vkidks viuk  
vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj dqN u fy[ksaA 

4- bl ijh{k.k iqfLrdk esa 100 iz’uka’k ¼iz’u½ fn, x, gSaA izzR;sd iz’uka’k fgUnh vkSj vaxzsth esa Nik gSA izR;sd 
iz’uka’k esa pkj izR;qŸkj ¼mŸkj½ fn, x, gSaA buesa ls ,d izR;qŸkj dks pqu ysa] ftls vki mŸkj&i=d ij vafdr 
djuk pkgrs gSaA ;fn vkidks ,slk yxs fd ,d ls vf/kd izR;qŸkj lgh gSa] rks ml izR;qŸkj dks vafdr djsa tks 
vkidks loksZŸke yxsA izR;sd iz’uka’k ds fy, dsoy ,d gh izR;qŸkj pquuk gSA 

5- vkidks vius lHkh izR;qŸkj vyx ls fn, x, mŸkj&i=d ij gh vafdr djus gSaA mŸkj&i=d esa fn, x, funsZ’k 
ns[ksaA 

6- lHkh iz’uka’kksa ds vad leku gSaA 
7- blls igys fd vki ijh{k.k iqfLrdk ds fofHké iz’uka’kksa ds izR;qŸkj mŸkj&i=d ij vafdr djuk 'kq: djsa] 

vkidks izos’k izek.k&i= ds lkFk izsf"kr vuqns’kksa ds vuqlkj dqN fooj.k mŸkj&i=d esa nsus gSaA 
8- vki vius lHkh izR;qŸkjksa dks mŸkj&i=d esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mŸkj&i=d v/kh{kd 

dks lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA 
9- dPps dke ds fy, i=d ijh{k.k iqfLrdk ds vUr esa layxz gSaA 
10- xyr mŸkjksa ds fy, n.M % 
 oLrqfu"B iz’u&i=ksa esa mEehnokj }kjk fn, x, xyr mŸkjksa ds fy, n.M fn;k tk,xkA 

¼i½ izR;sd iz’u ds fy, pkj oSdfYid mŸkj gSA mEehnokj }kjk izR;sd iz’u ds fy, fn, x, ,d xyr 
mŸkj ds fy, iz’u gsrq fu;r fd, x, vadksa dk ,d&frgkbZ n.M ds :Ik esa dkVk tk,xkA  

¼ii½ ;fn dksbZ mEehnokj ,d ls vf/kd mŸkj nsrk gS] rks bls xyr mŸkj ekuk tk,xk] ;|fi fn, x, 
mŸkjksa esa ls ,d mŸkj lgh gksrk gS] fQj Hkh ml iz’u ds fy, mi;qZäkuqlkj gh mlh rjg dk n.M 
fn;k tk,xkA 

¼iii½ ;fn mEehnokj }kjk dksbZ iz’u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mŸkj ugha fn;k tkrk gS] 
rks ml iz’u ds fy, dksbZ n.M ugha fn;k tk,xkA 

 

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa 
 

Note : English version of the instructions is printed on the front cover of this Booklet 
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